N = 0l & At & M A

0x

- _ _ RE]
M. B (BH) - HEAY - BHES Ofl At o4 %Eﬁ HR=2
375,674,845 331,475,428 44,199,417
= 176,697,698
g 948,500
Jl 8,407,795
= 50,295,585
Al 139,325,267
E3t0 = 25,211,592 20,552,581 4,659,011
= 1,783,507
J| 728,688
o= 2,410,041
Al 20,289,356
2 =4 14,434 /542 11,046,406 3,388, 136
= 54,000
J| 537,588
= 610,736
Al 13,232,218
== 4,405,952 4,309,992 95,960
= 54,000
J| 537,588
= 415,936
Al 3,398,428
SoNEsEE 78,500 68, 100 10,400
& 39,500 36, 100 3,400
AAHE X 21,500 21,100 400
SWEA dSHELE XA
5,000,000& = 100% 5,000
DA RES RE AHdNFAY
8,000,000& = 100% 8,000
DHHERES HESEX <
8,500,000 = 100% 8,500
AAISE B = 18,000 15,000 3,000
st AAEM ALK
10,000,000 = 100% 10,000
OXEEN JEH ALK A
4,000,000 = 100% 4,000
OUuzs ds=d XN&E 4.,000,000& = 100% 4,000
402 SI2vXHE0| & 39,000 32,000 7,000
01 It EANSEXR (MM A) 39,000 32,000 7,000
OYESHD HEZ THRY
3,000,000& * 100% 3,000
OXESN A2 FZAY
10,000,000& = 100% 10,000
OLESn HIAIAL Wi
20,000,000& * 100% 20,000
OXESn Y HEHA AX|
6,000,000& * 100% 6,000




A= 2o 2F=EN= FM 230z
M 2= A8 @ 4
Sl ASSHIMY 2 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
2ESN S5 uU=sA MEES NE 64,000 80,000 A 16,000
< 32,000
Al 32,000
307 gl2tol & 64,000 80,000 A 16,000
< 32,000
Al 32,000
03 BIAHNHE2IHIEL 64,000 80,000 A 16,000
OZsEgn s5Usd 29
64,000,000& * 100% 64,000
< 32,000
Al 32,000
SN2 HEEAS 35,000 24,000 11,000
= 14,000
< 6,300
Al 14,700
307 gl2tol & 35,000 24,000 11,000
= 14,000
< 6,300
Al 14,700
02 IZtEHAHE L 35,000 24,000 11,000
OstR4 JIs0AM 2 WA= gu23
35,000,000& * 100% 35,000
= 14,000
< 6,300
Al 14,700
ALLERSH AtgeEs XA 457,000 417,000 40,000
307 21201 A 437,000 417,000 20,000
02 It S AIHE L 97,000 97,000 0
OXNE =2 = AFAY
28,000,000& * 100% 28,000
OYgI=2stils=nsAE  69,000,0008 = 100% 69,000
03 QIAHMNHE2IHIEE 340,000 320,000 20,000
OZE=3A 24 300,000,000 = 100% 300,000
OWAEOtEMH=Z Y 40,000,000& = 100% 40,000
402 RI2EX=01 M 20,000 0 20,000
01 2I2EH 2 A B (KM ) 20,000 0 20,000
OLE=sE == dI . AL WA
20,000,000& = 100% 20,000
NYE2sHE AtgEd 29 X2 20,000 12,000 8,000
< 10,000
Al 10,000
307 gl2tol & 20,000 12,000 8,000
< 10,000
Al 10,000
02 It M AMHEE 20,000 12,000 8,000
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AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
ONg=sta A28 29 Ad
20,000,000& * 100% 20,000
& 10,000
Al 10,000
HE A HAAY 30,000 30,000 0
== 15,000
Al 15,000
307 2Iz2t0| & 30,000 30,000 0
= 15,000
Al 15,000
04 SIZ2HSHAAISH E & 30,000 30,000 0
ONE AAHZ dAAIY 30,000,000 * 100% 30,000
= 15,000
Al 15,000
HEOHEHZAM 120,000 100,000 20,000
& 50,000
Al 70,000
307 giztol A 120,000 100,000 20,000
& 50,000
Al 70,000
04 CIZ2tSHALALS B = 120,000 100,000 20,000
OHM73 HFo&=2H 100,000,000& * 100% 100,000
o= 50,000
Al 50,000
OHM7a Hz=ol& 2 (AlBI=DH)
20,000,000& * 100% 20,000
HOIEHE S 0l =0l AIY 60,000 0 60,000
= 30,000
Al 30,000
307 212t0| & 60,000 0 60,000
= 30,000
Al 30,000
02 QIZEBAAIE E X 60,000 0 60,000
OUUOIEHNEH SSE tlle=0l= AMY
60,000,000& * 100% 60,000
= 30,000
Al 30,000
(MUAES23 et X2 1,700,352 1,700,352 0
306 =2 1,700,352 1,700,352 0
o1 s 3 1,700,352 1,700,352 0
OS2 MR= 29 775,783,000& = 14! 775,783
OXNHMAMY &9 80,000,000 * 14! 80,000
ONR20 =X A 30,000,000& = 14! 30,000
O=x:0=0IY & 29
438,214,000 = 14! 438,214
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22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
SEEFEFEEREEEEE
141,760,000& * 14 141,760
OXSZAN-H A 29
180,427,000& * 14 180,427
OYFAEN /I 2 54,168,000& » 14l 54,168
ZSAHULEAH 300,000 300,000 0
308 XXM SOIA 300,000 0 300,000
10 B2 SUUS3AHAE A I 300,000 0 300,000
OHM12s ZSAHUW=H M=l
300,000,000& * 14! 300,000
NE=23d s 20,800 166,800 A 146,000
201 LB-2d| 18,800 48,800 A 30,000
01 At 22l 3,800 33,800 A 30,000
OsE=2 HH 3,000,000& = 14l 3,000
O (FA2E3J1Us2UH MR
800,000& * 14 800
03 &AL Z I 15,000 15,000 0
OFsll U= & dAM2E
15,000,000 * 14 15,000
301 LA F 2,000 2,000 0
09 HALAHIXI &S 2,000 2,000 0
O=3t2te @A 319 RI2E0l MY 24
2,000,000& = 14 2,000
230t U= & A 80,000 0 80,000
= 40,000
Al 40,000
307 21201 A 80,000 0 80,000
= 40,000
Al 40,000
02 IAHFAANHFEX 80,000 0 80,000
O&m 2ES gLt 'dtset
80,000,000& * 100% 80,000
= 40,000
Al 40,000
g2 2N 3,000 3,000 0
201 L2l 3,000 3,000 0
02 =224l 3,000 3,000 0
OAIE ZHI S X 3,000,000& = 14| 3,000
g2 0lsd 22 2435 N2 50,000 30,000 20,000
< 15,000
Al 35,000
201 et 10,000 10,000 0
< 5,000




AR 2B SN 2a0ED
M 2= A8 @ 4
Sl YSRHFML =Y EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Al 5,000
03 & Ar2 I 10,000 10,000 0
OFE el AIlge=2 10,000,0008 = 14 10,000
< 5,000
Al 5,000
307 21201 A 40,000 20,000 20,000
< 10,000
Al 30,000
02 It S AMHEL 20,000 0 20,000
OAge=2.0ls2 X2
20,000,000& * 100% 20,000
04 DIZHHALALSE E X 20,000 20,000 0
O0tJt= &=2 Viva Viva Museum XI&
20,000,000& * 100% 20,000
< 10,000
Al 10,000
EZEMNSFI 124H XA 16,000 20,000 24,000
307 21201 A 16,000 20,000 A 4,000
03 A EE2IHIES 16,000 20,000 A 4,000
Os38d4usd eAdd X
1,000,000& = 4H * 43| = 100% 16,000
30101 ALY 300,000 300,000 0
= 150,000
Al 150,000
307 21201 A 300,000 300,000 0
< 150,000
Al 150,000
02 HAFAAHEX 300,000 300,000 0
OZZ20/01H A 300,000,000& * 100% 300,000
S 150,000
Al 150,000
=g YSI24E Egs N 80,000 0 80,000
201 Let24d] 53,000 0 53,000
01 At 22/l 33,000 0 33,000
OFdAAE 294 13,000,000& * 14 13,000
Os2s & g4 & 20,000,000& = 14l 20,000
03 A2 20,000 0 20,000
O=24% KX A Wzl X
20,000,000& = 14 20,000
202 (44l 2,000 0 2,000
01 S LHOIYI 2,000 0 2,000
ORX =& &l 100,000& = 2H = 103l 2,000
301 LEXZ 25,000 0 25,000




A3 oamm=R D SN 2s0s
M U= AESE 2 4
ool USSAFAY =Y (B9 ®R)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
09 HALAHIX A S 25,000 0 25,000
O&AL. 32 MEIF 0l2tol AlH| 84
5,000,000& = 14 25,000
SYERaHs2H0SH 775,800 748,800 27,000
| 537,588
< 47,636
Al 190,576
301 LEd = 775,800 748,800 27,000
| 537,588
< 47,636
Al 190,576
01 MEI2EZE+05l= 775,800 748,800 27,000
OSEaHs220EE AHEXR
775,800,000& = 14 775,800
| 537,588
< 47,636
Al 190,576
ZE2}I ML 23 15,500 14,940 560
202 Odl 6,300 5,740 560
01 = LHA YI 6,300 5,740 560
OZEZstFNLeE 290l
20,0003 = 7H « 453 6,300
203 YR FXH] 9,200 9,200 0
03 AIHZ=XH R =AH| 9,200 9,200 0
OS2 M=AHZ=X(ZE)  6,000,0008 14 6,000
OZstUsANHF=A 3,200,000& = 14l 3,200
EF=HVIE-EpS) 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIE B = 30,000 30,000 0
OZgu==d HAXIE 30,000,0008 * 100% 30,000
AAILG 0= A 70,000 70,000 0
< 10,000
Al 60,000
307 21201 A 70,000 70,000 0
< 10,000
Al 60,000
04 DIZHHALALSE E X 70,000 70,000 0
OdANLE0I=UAE 20,000,000& * 100% 20,000
< 10,000
Al 10,000
OMAAL DI =& (AIHIFIH)
50,000,000& * 100% 50,000
A AR JIE ALY 100,000 100,000 0
= 50,000
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SAH-EH . B (3H) - HEAY - B O At 0t il 2
Al 50,000
307 212t01 & 100,000 81,000 19,000
& 50,000
Al 50,000
04 QIZHSHAFAIE 2 X 100,000 81,000 19,000
Oaldds AlQ I8 AFY  100,000,000& * 100% 100,000
= 50,000
Al 50,000
So=gs XA 4,574,362 1,716,244 2,858,118
& 194,800
Al 4,379,562
Ssg 22 24,200 20,900 3,300
201 LEt29Y| 23,200 19,900 3,300
01 AFR2 2t 2l bl 23,200 19,900 3,300
ONYE ttxe8s 2 Xt 660,000& * 303 19,800
ORsSdY NEos 2| 500,000& * 14 500
ORsd s Wi M= 1,000,000& * 23] 2,000
OKRsY U= 2AE2 200,000& * 33 600
ORZYAHNIHSEA XNEH GE EXE M
300,000& * 13 300
202 4] 1,000 1,000 0
01 2LHOHI 1,000 1,000 0
SESYEXNE=SHSES 2 UHOH LI
20,000& » 29 x 253 1,000
=3 Bldlsgs 24 5,000 5,000 0
301 deEtE2dZ 5,000 5,000 0
09 HALAHIXI &= 5,000 5,000 0
Ofz=t=x=3d 24 100,000& * 30 3,000
OZAA=2ZHM EIOIEH 100,000& * 1094 1,000
OZLJAF2INM OB A
100,000& * 1094 1,000
H==sesid 320,482 287,344 33,138
201 LEt2 Y| 127,000 127,000 0
01 At 22l Yl 1,000 1,000 0
OISz E2 42 X
100,000& = 103l 1,000
02 332494l 6,000 6,000 0
Oss23dH% 6,000,000 * 14 6,000
03 SHALS H I 120,000 120,000 0
Ofl=&8AN &9 40,000,000 = 14 40,000
OJIgsd 29 80,000,000& * 14 80,000
307 212t01 & 183,482 150,344 33,138




AR 2B SN 2aiS
HM: 2HsEANEd ¥ 4
el Eetiizgs XA (cho &)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o gﬁ‘&i HR=2
03 QIZI X EHESIEHIEX 183,482 150,344 33,138
OZENE &4l
163,482,000& = 141 x 100% 163,482
OZENHE 249l
20,000,000& = 1A * 100% 20,000
401 AlEHIZL 2 0HY| 10,000 10,000 0
01 A&l 10,000 10,000 0
ESESZ2HE AEESE 10,000,000 = 14! 10,000
OIEH=FA 10,000 10,000 0
307 gizto| A 10,000 10,000 0
04 QIZ2tSHALALS B = 10,000 10,000 0
OHM21g 2U=sd=sH 10,000,000& * 100% 10,000
oo FH 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
04 DIZLHALAFRI 2 & 10,000 10,000 0
OHM163 ZELA0IFEM 10,000,000& * 100% 10,000
H==2ssued 35,000 25,000 10,000
307 212t0| & 35,000 25,000 10,000
04 SIZ2ISHAAISH E X 35,000 25,000 10,000
OHM283 MH==23sn=2dy
25,000,000& * 100% 25,000
OssFHLARANSS N
10,000,000& = 100% 10,000
2EWH==sHA 120,000 70,000 50,000
307 QI2t0| ™ 120,000 70,000 50,000
04 CIZ2tSHALALS B X 120,000 70,000 50,000
OHM503 ZEMH==A 120,000,000& = 100% 120,000
LAESMH2SI0H==A 10,000 10,000 0
307 2Iz2t0| & 10,000 10,000 0
04 SIZ2SHAAISH E & 10,000 10,000 0
OLESMEISH=FA 10,000,000& * 100% 10,000
ZEAQIIL A 20,000 20,000 0
307 2iz2tol A 20,000 20,000 0
04 OIZ2tSHAFALS B = 20,000 20,000 0
OHM293] ZEACIIJIL M 20,000,0008 * 100% 20,000
deldec sdgs K& 20,000 20,000 0
307 QI2t0| ™ 20,000 20,000 0
04 CIZ2tSHALALS B X 20,000 20,000 0




A= 2o 2F=EN= FM 230z
M 2= A8 @ 4
?4?: S3o=&s XN (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OJgladae ZHEs N
20,000,000& = 100% 20,000
d=ARESE2H 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
OHMe28sl dIAXMNZBZA  15,000,000& * 100% 15,000
A 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
04 QIZFHALAIH E = 7,000 7,000 0
OHM37sl ZJAIHM &I+ 7,000,0008 * 100% 7,000
OLEHNH A 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OOtEH & 10,000,000& * 100% 10,000
2 S H 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DIV ALAIRI B X 5,000 5,000 0
020208 S22 5,000,000& = 100% 5,000
LEEZSA AlatA 12,000 10,000 2,000
307 gl2tol & 12,000 10,000 2,000
04 QIZHHALAFRIE & 12,000 10,000 2,000
OHM108 ZE=2sta AlY
12,000,000& * 100% 12,000
NG 2st=2sid 25,000 25,000 0
307 21201 A 25,000 25,000 0
04 DIZHHALALSE E X 25,000 25,000 0
OXYgZsto=&sX& 25,000,000& * 100% 25,000
ZEIH0ICIHEEH 2F 343,000 325,000 18,000
307 glz2tol & 300,000 280,000 20,000
05 RIZHRI & 3 300,000 280,000 20,000
OZEZA0ICINEH 2
280,000,000& * 14 280,000
O=S=8 30Il= 93 4493
20,000,000& =« 14 20,000
401 A& HI K 2018 10,000 10,000 0
01 A& HI 10,000 10,000 0
OAEE & 2te] 10,000,000 « 14 10,000
405 RHoHE S HI 33,000 35,000 A2,000
01 et EZFH S 33,000 35,000 A 2,000




A3 oamm=R D SN 2s0s
M 2= A8 @ 4
el Eetiizgs XA (cho &)
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A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OL%: EH uBM>7 33,000
odIH P 4,500,000& =« 20H 9,000
ocLESR F¢ 1,200,000 * 5CH 6,000
cHMUFELAZOEX 2
4,500,000& =+ 1CH 4,500
oL ZIIAM wH <& 13,500,000 * 14 13,500
AUIEHX R 50,000 50,000 0
307 21201 A 50,000 50,000 0
02 B AAFEX 50,000 50,000 0
Ollzsd8 =83 XN 62,500,000& = 80% 50,000
2o QAHAEZ 28 K& 80,000 86,000 A 6,000
307 gl2tol & 80,000 80,000 0
02 It M AHE L 80,000 80,000 0
OB AAE 2E XE ALY
80,000,000& * 100% 80,000
Z2EM= 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
OHM27al ZSW=ela 10,000,000& * 100% 10,000
ZE0I=AL BHEALY 60,000 0 60,000
307 glz2tol & 60,000 0 60,000
02 It M AHE X 60,000 0 60,000
OZS0l=At HEALY 60,000,000& = 100% 60,000
Fli=2siad 2834 3,680 3,600 80
202 044l 3,680 3,600 80
01 = LH o4 1l 3,680 3,600 80
O2sti=esXd 2334l
20,0003 = 4% = 463 3,680
EIFMIFLEHM=SH 180,000 180,000 0
< 64,000
Al 116,000
307 glz2+ol & 180,000 180,000 0
< 64,000
Al 116,000
04 QIZFHALAIH E = 180,000 180,000 0
OZE=HEALEN==H
128,000,000& * 100% 128,000
< 64,000
Al 64,000
OLEZMELEMEEE (AMHIFIH)
52,000,000& * 100% 52,000
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o= SSES 34,000 14,400 19,600
== 17,000
Al 17,000
307 2Iz2t0| A 34,000 14,400 19,600
o= 17,000
Al 17,000
04 SIZ2HSHAAISH E & 34,000 14,400 19,600
Ozt SsteEs 34,000,000& * 100% 34,000
& 17,000
Al 17,000
23 &3 OHLINOlIE 2EI= HE 22,000 22,000 0
& 8,800
Al 13,200
307 giztol & 22,000 22,000 0
& 8,800
Al 13,200
02 AI2tAAMAIE E =X 22,000 22,000 0
OZ&d2o &3 oHLIMolE 2 = HE
22,000,000& * 100% 22,000
= 8,800
Al 13,200
a2 H3AE 230 = oY 20,000 20,000 0
& 10,000
Al 10,000
307 2iz2to| A 20,000 20,000 0
& 10,000
Al 10,000
04 OIZ2tSHAFALSE B X 20,000 20,000 0
OYMZ2a 3A4d 2510 = stite
20,000,000 * 100% 20,000
& 10,000
Al 10,000
LAEANDIS2 50,000 0 50,000
307 2iz2tol & 50,000 0 50,000
04 QIZ2tSHAFAFS B X 50,000 0 50,000
OLEANLS2T 50,000,000& * 100% 50,000
Z2E2MYsHA 2,803,000 0 2,803,000
202 04 d| 3,000 0 3,000
01 2Ll 3,000 0 3,000
OYStM 2tHI2 &2
100,000& * 3% = 103 3,000
308 XAHXIGHH SO0l & 2,800,000 0 2,800,000
10 2| 2SHUSHE A X RAEASH] 2,800,000 0 2,800,000
OZLEZ2HIESH A& 2,800,000,0008& = 14! 2,800,000




a2 =N= M 280z
s AEd & 4
Zstlz=gs N (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
d=sd =g X3 50,000 0 50,000
307 gl2tol & 50,000 0 50,000
04 DI2ZHHALALSE E X 50,000 0 50,000
OFsd =gdstHd X&
50,000,000& * 100% 50,000
Z2E 02 =Ud 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 DIZHHALALSE E X 5,000 0 5,000
OZE 0l=& =U&H 5,000,000& = 100% 5,000
Mells XA 140,000 0 140,000
< 70,000
Al 70,000
307 glz2tol & 140,000 0 140,000
< 70,000
Al 70,000
04 DIZHHALALSE E X 140,000 0 140,000
OMEls KNIAAY 140,000,000& * 100% 140,000
< 70,000
Al 70,000
SIENE 50,000 0 50,000
< 25,000
Al 25,000
307 glz2+ol & 50,000 0 50,000
< 25,000
Al 25,000
04 QIZFHALAIH B = 50,000 0 50,000
OSE2NE 50,000,000& * 100% 50,000
< 25,000
Al 25,000
UECHLH e2 X3 X 25,000 0 25,000
307 21201 A 25,000 0 25,000
04 DIZHHALALSE E X 25,000 0 25,000
OLSH2H eA2Z=U3 XA
25,000,000 = 100% 25,000
golstt 24 4,876,513 4,595,188 281,325
ANEl=t 29 245t 4,740,013 4,462,188 277,825
101 14l 12,872 12,462 410
4 D12t ZE2EXNEES 12,872 12,462 410
O3l i &0 el 12,872
oX¥Il « JIEAFT
69,2003 * 7H = 183l 8,720
o X0t Y3 69,2003 * 4H « 153 4,152
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AR 2HBBREXR SN 2EMED
M 2= A8 @ 4
Helr Atz 29 (Sl & &)
A= 2A - BB SAEH) - NPAY - BES 0l &t o il HDEZ
OAlgllesd Uz A
130,000& + 100 * 123 156,000
OANgolse 240122 60%) 262,749
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1,449,600,000& * 2.15%
1,449,600,000& * 1%
1,449,600,000& * 10%

300,000& » 1H = 128
200,000& » 18 = 128

od, MEEdoW, a1 2

100,000& = 3% = 12&
300,000,000&
15,000,000&
30,000,000&
12,000,000&
110,000,000&
150,000,000&
13,000,000&

* * * * * *
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120,000,000&
20,000,000&
6,000,000&
20,000,000&
8,000,000&

* X X *
T
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>

24,000 = 328 * 230
3,000% * 32% = 230¢&
15,000,000& * 14
1,000,000& = 12&
50,000,000 = 14!

6,0008 = 32% = 230
30,000,000& = 14

Aldl XI&  8,000,000& * 14
50,000,000& * 1&
50,000,000& 2
40,000,000& « 4&
36,000,000& * 1H

395,600,000& = 4.5%
395,600,000& = 3.12%
12,105,000& * 7.38%
395,600,000& = 2.15%

395,600,000& * 1%

31,167
14,496
144,960
9,600
3,600
2,400

3,600
300,000
30,000
60,000
12,000
110,000
150,000
13,000
174,000
120,000
20,000
6,000
20,000
8,000
198,720
176,640
22,080
15,000
12,000
50,000
44,160
30,000
8,000
686,621
346,000
50,000
100,000
160,000
36,000
43,501
17,802
12,343
894
8,506
3,956
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CHE - EI(BH) - NRMY - BYS
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O

EEEREERE 395,600,0002 * 10%
oXE4Y 200,000%! * 1% * 128
cmpaY 200,0002 * 8% * 128
oROMHE £Z 5000008 + 2 + 12@
osgay

Za3 16,000,000% * 14}
ozl 6,000,008 * 14!
cRsMs Py 20,000,000% * 1%
oFX E I 30,000,008 * 14!
oEHY| 30,000,008 * 14!
o2& 2H(2 5,000,008 * 14!
cERUBE 30,000,008 * 14!
©Z ()4l

=] 24,0002 * 8% * 2302

2t 41| 3,000% * 8 + 2302
o ZHI Y 11,000,008 * 14}
czze3 7,000,008 * 14!
oaig 3t 3,000,008 * 14!
o= S| 6,000% + 6% + 2302
sty 3,000,008 * 14!
osa2g SAH X¥ 5,000,008 * 14
ECES
o320

2= 50,000,0008 * 1%

s3 d4 50,000,0008 * 1

AZ M4 40,000,000% * 3%

BZ d 36,000,008 * 1%
c4ll 2=

20K REE 288,800,008 * 4.5%

dyBEE 288,800,0002 * 3.12%

HIIQYLHEE 8,837,008 * 7.38%

InE=-11- 1] 288,800,0008 * 2.15%

AEEE 288,800,000% * 1%
cEN NYZ 288,800,000 * 10%
oXE4Y 200,000% * 1% * 122
cEp4Y 200,0002 * 6% * 128
oROIHE £Z 500,008 + 1Y + 128
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10,000,000& = 1A
6,000,000& = 14|
20,000,000& = 14
15,000,000& * 14

39,560
2,400
19,200
12,000
16,000
16,000
6,000
20,000
30,000
30,000
5,000
30,000
49,680
44,160
5,520
11,000
7,000
3,000
8,280
3,000
5,000

530,698
256,000

50,000
50,000

120,000

36,000
31,758
12,996
9,011
653
6,210
2,888
28,880
2,400
14,400
6,000
10,000
10,000
6,000
20,000
15,000
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i
2




Az 222 =R=3 M HsW
Hu: HSAE
el 2N |4
A2 .2 B S(BH) - HRAY - BES il &t o il
o2 A Z (2 Z4l) 5,000,000& = 14 5,000
c=2dHESHl 35,000,000& * 14 35,000
o g (2H)Aldl 37,260
= 4l 24,0003 * 6¥ = 230 33,120
ZHAIH| 3,000& * 69 = 230 4,140
o ZH| & Xl 11,000,000& * 14 11,000
oE53R= 3,000,000& = 14 3,000
oA e 3l 2,000,000& = 14| 2,000
o ZHl |XH 4,000,000& = 14 4,000
o BRI 40,000,000 = 14! 40,000
oA E4H XI&  3,000,000& * 14 3,000
ORE=R 479,085
SR=10 226,000
= 50,000,000& » 1H 50,000
S U= 50,000,000& = 29H 100,000
AS d= 40,000,000& = 1H 40,000
B &= 36,000,000& * 1H 36,000
o4l B = 25,995
- IRUHSBER 236,400,000& = 4.5% 10,638
HLEE= 236,400,000& * 3.12% 7,376
FleLBE= 7,234,000& * 7.38% 534
1E28= 236,400,000& * 2.15% 5,083
MTEE S 236,400,000 * 1% 2,364
o & & Mgz 236,400,000& * 10% 23,640
SPNEE =, 200,000& = 19¥ » 12& 2,400
oczdg 200,000& = 5H » 123 12,000
oc=ZJIE =% 500,000& = 19¥ = 12& 6,000
oS8d 10,000
TS 10,000,000& * 14 10,000
o YL 30,000,000 = 1 30,000
c=2dE 294l 6,000,000& = 14 6,000
oMXE&HI 20,000,000& * 14 20,000
oZE M| 15,000,000& * 14 15,000
o2 AXZHI(2ZHl) 3,000,000& * 14 3,000
c=2dHEFHl 25,000,000& = 14 25,000
o Z(2H)altl 31,050
= 4l 24,0003 = 5H » 230 27,600
2HALH| 3,000& = 5 230 3,450
o ZHH| & Xt 11,000,000 14 11,000
°cE3ERS 6,000,000& = 14 6,000
o8 3l 2,000,000& = 14 2,000
o ZHl |XH 7,000,000& = 14 7,000




Az 222 =R=3 M HsW
Hu: HSAE
el 2N |4
A2 .2 B S(BH) - HRAY - BES il
o ZHl 28t 10,000,000 * 14 10,000
oYt IH| 3,000,000& = 14 3,000
oA EAH XI&  4,000,0008 * 14 4,000
OFS3V RPN 370,812
SR=10] 180,000
4= 50,000,000& = 1H 50,000
g2 U= 50,000,000& » 1H 50,000
AS = 40,000,000& = 2H 80,000
o4l B = 21,782
- ILUHSBER 198,000,000& * 4.5% 8,910
ALEER 198,000,000& * 3.12% 6,178
FleLBE= 6,187,000& * 7.38% 457
E=3h==d 198,000,000& * 2.15% 4,257
MTHEE = 198,000,000& * 1% 1,980
oA Mgz 198,000,000& * 10% 19,800
SPNE=E =, 200,000& = 19¥ » 12& 2,400
oczdg 200,000& = 3H » 123 7,200
o= JIHE =% 500,000& = 3¥ = 123 18,000
oSgExd 20,000
TS 20,000,000& =« 14l 20,000
ocEE 29| 6,000,000& * 14 6,000
o X E&tl 20,000,000& =« 14 20,000
oE=MH| 15,000,000 * 14! 15,000
ocRAXZHI(2ZHl) 5,000,000& = 14 5,000
cE=HESHI 15,000,000& * 14! 15,000
oz (2H) Al 18,630
= altl 24,0003 * 3% = 230 16,560
2tALH| 3,000& = 3¥ = 230 2,070
°cEERS 4,000,000& = 14l 4,000
oA 8 3l 2,000,000& = 14l 2,000
o ZHl |XH 5,000,000& = 14 5,000
o B2 A 2,000,000& = 14 2,000
ocAIA R E=4 Xt 500,000& = 123 6,000
oA E4H XI&  3,000,000& * 14 3,000
401 Al B2 28I 50,000 50,000
01 A& HI 50,000 50,000
OXEA2SZI=R g=sa & 28 FRANES
50,000,000& * 14l 50,000
405 RHoHF S HI 60,000 60,000
01 AL EFFE 60,000 60,000
oAds =3 ¥ 60,000
oERE 20,000,000& * 14l 20,000




A2 2opABF=EN2 S =
g s
ool MR2HS S4 EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
oFAR 10,000,000& * 14 10,000
cEHR 10,000,000& = 14 10,000
ocRER 10,000,000& = 14 10,000
o HOHQIAI A £ 10,000,000& = 14 10,000
ZENELEHH 29 50,000 50,000 0
308 MHXIEHSOIH 50,000 50,000 0
10 SII 2 SOICHEHE & X 2 AL I 50,000 50,000 0
OZENHASHE 22 X&
50,000,000& = 14 50,000
28 sdHss 29 30,862 29,229 1,633
101 14l 19,862 19,229 633
4 JI2ZtHZ22HEE = 19,862 19,229 633
OxMsz 2elel 19,862
cJIE2=s 69,200& * 18 = 230 15,916
oFFd 69,2003 * 1H  46¢Y 3,184
oA+ 69,200& * 1% = 11 762
201 L4l 11,000 10,000 1,000
02 =224l 11,000 10,000 1,000
03222 % MAl 9,000
ocdIIRa, H=H S 9,000,000 * 14l 9,000
OA&EHl Sl 2,000,000& = 14! 2,000
HEds & dAL X 48,000 49,000 A 1,000
201 L2l 40,000 40,000 0
01 At 22l 32,000 32,000 0
OArZ 22l 32,000
oAZ O3 XY L B2
20,000,000& = 14 20,000
oA 23 AX= 12,000,000& = 14 12,000
03 & AL2 Z I 8,000 8,000 0
Ogsdz =i N& 8,000,000& =+ 14! 8,000
202 04l 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
OM=sg¢d =& 20,0008 » 5% = 53] = 128 6,000
203 R =&t 2,000 3,000 A 1,000
03 A F=XH R =AY 2,000 3,000 1,000
OM=s AR =& 2,000,000& = 14l 2,000
d=H=HE 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
02 QB HAANHFEE 15,000 15,000 0




A= 2o 2F=EN= M HsW
Mo SIS
ol HEHS S4 CER-ED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OM1013 E=2HMSUE 15,000,000& * 100% 15,000
dl=zdg XA 30,000 20,000 10,000
307 glz2+ol & 30,000 20,000 10,000
02 QIZtE M AHE X 30,000 20,000 10,000
O&dXzsgE XN& 30,000,000& * 100% 30,000
2 =3 DSstL S3A0UE 160,000 120,000 40,000
307 21201 A 160,000 120,000 40,000
04 QIZFHALAIR B = 160,000 120,000 40,000
ORI25s =22UI 8= DSsw F2US(76%
) 160,000,000& * 1A 160,000
ZE dIcSorRUal 100,000 65,000 35,000
307 21201 A 100,000 65,000 35,000
04 QIZFHALAIH B = 100,000 65,000 35,000
OHM6z 25 M= 2IS02U =3I (80%)
100,000,000& * 14 100,000
clE Ok 3l 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
02 It M AHE X 15,000 15,000 0
OclE OFE thal &It 15,000,000& * 100% 15,000
2N =S 300,000 300,000 0
307 21201 A 300,000 300,000 0
02 LB AAFEE 300,000 300,000 0
OM5558 2SS UHE &It
300,000,000& * 100% 300,000
AT AEMSUS 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
02 QB HAANGEEE 30,000 30,000 0
02020 22& A2EM=EUS &It
30,000,000& * 100% 30,000
23 SH OtetE el 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
02 It M AMHE L 8,000 8,000 0
OHM29sl AN OtHE Hal &It
8,000,000& = 100% 8,000
3N FEE & -0 ==UH3 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
02020 =M 2 g -0 2=U3
15,000,000& * 66.666% 10,000




A= 2o 2F=EN= M HsW
Mo SIS
ol HEHS S4 CER-ED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
ZEA =ZAHUSI T U3l 3,500 3,500 0
307 gl2tol & 3,500 3,500 0
04 DI2ZHHALALSE E X 3,500 3,500 0
02020 ZEAN==SHUSI | 3
6,000,000& = 58.33% 3,500
ZEA OFREIEI M3 10,000 8,000 2,000
307 21201 A 10,000 8,000 2,000
04 DIZHHALALSE E X 10,000 8,000 2,000
02020 ZEAM0FFE2FEI
10,000,000 = 100% 10,000
ZEANEI 23 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OM13al ZEANHEI 2ZUs
10,000,000& * 50% 5,000
ZSAEI s4U3 8,000 8,000 0
307 glz2+ol & 8,000 8,000 0
04 QIZFHALAIH E = 8,000 8,000 0
02020 ZEAMEI szl
8,000,000& = 100% 8,000
ZEANEI BHEZ 3 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QIZFH AL AR 2 X 30,000 30,000 0
OM128 ZEAFI HAZ Ul
40,000,000& = 75% 30,000
SHAEE el 40,000 30,000 10,000
307 gl2tol & 40,000 30,000 10,000
04 DIZHHALALSE E X 40,000 30,000 10,000
SHAEE 21 40,000,000& = 100% 40,000
JIEt Ul NJA(HEHS) 45,000 45,000 0
307 glz2+ol & 45,000 45,000 0
02 It MAHEE 45,000 45,000 0
OJIet thal X& 45,000,000 * 100% 45,000
ZRAZXAI =.8 s4U3 7,000 7,000 0
307 21201 A 7,000 7,000 0
02 HAFAAHEX 7,000 7,000 0
OHM218l XA = -5 LU
7,000,000& = 100% 7,000
ZREAEXAD = -5 =dUH3 7,000 7,000 0




A2 2opABF=EN2 S =
Mo SIS
ool MR2HS S4 CER-ED
2.RA BB S (E) - MBAY - BYS 0l &t il HZS2
307 212t01 & 7,000 7,000 0
02 DIZtZAAMEE X 7,000 7,000 0
OHM21a ZRZ=XAI =,858 =9U3
7,000,000& * 100% 7,000
2RSS A =2 U3 2,000 2,000 0
307 QI2t0| M 2,000 2,000 0
02 DIZtBAAMEE X 2,000 2,000 0
OM243] LKA = &It
2,000,000& = 100% 2,000
Z2RATXAID 203 2,000 2,000 0
307 QI2t0| ™ 2,000 2,000 0
02 DI2HEMAIEE X 2,000 2,000 0
OHM268 Z2A=XADI 2 =3 &I
2,000,000& * 100% 2,000
ZRASXAI EBHAZ THE 2,000 2,000 0
307 QI2t01 ™ 2,000 2,000 0
02 DI2HEAMAIEE X 2,000 2,000 0
OHMI253] ZJA=X A EHAZCHS &It
2,000,000 * 100% 2,000
ZRAEXAD 2EU 3 2,000 2,000 0
307 212t01 & 2,000 2,000 0
02 DI2ZtZ AAEE X 2,000 2,000 0
OHM263 ZR=XAD HE=Hsl =t
2,000,000& = 100% 2,000
2R A SEMF 2,000 2,000 0
307 212t01 & 2,000 2,000 0
02 DIZtZAAMEE X 2,000 2,000 0
02020 XA 2= 03
2,000,000& = 100% 2,000
RS XA DA ZE A20E 1,000 1,000 0
307 212t01 & 1,000 1,000 0
02 DIZtZAAMEE X 1,000 1,000 0
02020 23 = XIAHHH DIAEHZE H2HE
1,000,000& * 100% 1,000
K& e a 12,000 10,000 2,000
307 QI2t0| M 12,000 10,000 2,000
04 QI2tSHALAIE E &= 12,000 10,000 2,000
OX&EH HE X 15,000,000& * 80% 12,000
2RSS X ANBE Z2 2O 3 2,000 0 2,000
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A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
307 glz2tol & 2,000 0 2,000
02 PIZHEHAHEE 2,000 0 2,000
02020 22 S XIAtHH 23
2,000,000& * 100% 2,000
Z&FC M= X3 500,000 0 500,000
201 Let249] 500,000 0 500,000
01 At 22/l 500,000 0 500,000
OZ&FC 2104l X& 500,000,000& = 14 500,000
Het=2 sl d=2dHsS88-2AUHE 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 DI2HHALAISE E X 20,000 0 20,000
02020 thet=d 3 E d=2gdUlSELd=2U
3 40,000,000& = 50% 20,000
HEHs =4 1,335,552 1,226,132 109,420
J| 314,328
< 45,904
Al 975,320
HEHSE XA 84,140 62,300 21,840
307 21201 A 84,140 62,300 21,840
02 It S AIHE L 76,140 54,300 21,840
OZ= HEXXF= HEAHS LFAY
30,000,000& * 100% 30,000
OMaxs T2 2435
46,140,000 = 100% 46,140
03 QIZtHHNHE2HHEX 8,000 8,000 0
oxg |A & 2el 8,000,000& * 100% 8,000
MeEtxs NCX X 22 231,744 218,304 13,440
J| 115,872
Al 115,872
307 glz2tol & 231,744 218,304 13,440
J| 115,872
Al 115,872
02 It MAMHEE 231,744 218,304 13,440
oMex=s X=X BiXl =294
28,968,000& » 8F * 100% 231,744
J| 115,872
Al 115,872
oza Msg2s XN 173,808 163,728 10,080
J| 86,904
Al 86,904
307 glz2tol & 173,808 163,728 10,080
J| 86,904
Al 86,904




st =A= M HsW
HN=dE
Y ER-YE (el @2)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
2 It FAAMHE L 173,808 163,728 10,080
oozd Msgs NTA HXl
28,968,000& * 6 *100% 173,808
J| 86,904
Al 86,904
AEIAR 0IEEA XNEAY 159,360 130,800 28,560
J| 111,552
< 23,904
Al 23,904
301 LEdZ 159,360 130,800 28,560
J| 111,552
< 23,904
Al 23,904
01 MI2EZE+6l= 159,360 130,800 28,560
OAE=2A 0/8A XNAAY
159,360,000 * 14 159,360
J| 111,552
< 23,904
Al 23,904
HEHE 29 6,000 6,000 0
202 O4dl 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
OAEZ=0HE RFH
20,000& = 28 = 1503l 6,000
Hdaysny 2 24,000 24,000 0
< 12,000
Al 12,000
307 21201 A 24,000 24,000 0
< 12,000
Al 12,000
02 It M AIHE L 24,000 24,000 0
Odaxsws 2H XA  24,000,0008 * 100% 24,000
< 12,000
Al 12,000
ot &= HIUAME 11,000 11,000 0
307 glz2tol & 11,000 11,000 0
04 DI2HHALALSE E X 11,000 11,000 0
ORM323 Holith &= EHUANS
22,000,000& * 50% 11,000
&= IOt §3203 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OHM1938 M=ItE €323
40,000,000& = 50% 20,000




AR Bl =R=2 2A M=
HH: YRS
Sl MBS S4 CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 gﬁ‘&i HR=2
2EH =2 BHECIE O3l 20,000 20,000 0
307 2Iz2t0| A 20,000 20,000 0
04 QI2HEH AFAFQI 2 X 20,000 20,000 0
OHM163 HEHl A=2HHEQUEH U3
40,000,000& * 50% 20,000
s3I =2 44 =32 018 150,000 150,000 0
307 212t0| & 150,000 150,000 0
04 SIZ2ISHAAISHE E X 150,000 150,000 0
OHM128 83U d=2 K44 =203
200,000,000 * 75% 150,000
=2 A21A2H 43 15,000 15,000 0
307 QI2t0| ™ 15,000 15,000 0
04 CIZ2tSHALALSE B X 15,000 15,000 0
OM11g d=2A21AZH 3
30,000,000 * 50% 15,000
2R HEH MEHSE 3 25,000 20,000 5,000
307 giztol A 25,000 20,000 5,000
02 QIZIA AAIE E X 25,000 20,000 5,000
02020 22 = o2d M=
25,000,000 * 100% 25,000
20 ME S 80,000 80,000 0
307 2iz2to| & 80,000 80,000 0
02 QIZ2FA AAIE E X 80,000 80,000 0
OHM28sl 20l MEH KOS
80,000,000 * 100% 80,000
2 228 3¢ X U 5,000 5,000 0
307 2Iz2t0| & 5,000 5,000 0
04 QI2H AFAFRI X 5,000 5,000 0
02020 2T 242 320X SEU 3
10,000,000& * 50% 5,000
2HEE 2T HLUAMS 8,000 8,000 0
307 2I2t0| & 8,000 8,000 0
04 SIZ2ISHAMAISHE E X 8,000 8,000 0]
OHM63l HEH 22 % HLUAUSE
16,000,000& * 50% 8,000
LAST A BHRCH S 2,500 2,500 0
307 QI2t0| & 2,500 2,500 0
02 QI2tAAMAIE E =X 2,500 2,500 0
OHMI233 2R XIAHD| B2 T3
2,500,000& * 100% 2,500




FM o HSEH

- EA(ZAH) - HEAMY -
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4

==}
==
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i
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1,000

,000

1,000

,000

MEH U
1,000,000& =

100%

1,000

1,000

,000

0

5,000

,000

5,000

,000

A

T3
5,000,000& =

100%

5,000

5,000

,000

03

2,000

,000

2,000

,000

BHEQIE THal
2,000,000& *

100%

2,000

2,000

,000

oY

ARJl THef=etolE thal

2,000

,000

2,000

,000

el Z2etol gt al
2,000,000& *

100%

2,000

2,000

,000

oY

2,500

,500

2,500

,500

HOIEZ OHal
2,500,000& =

100%

2,500

2,500

,500

0

1,000

,000

1,000

,000

NEZ T3l
1,000,000& =

100%

1,000

1,000

,000

0

2,500

,500

2,500

,500

g3
2,500,000& =

100%

2,500

2,500

,500

03

2,500

,500

2,500

,500

HUA CHE
2,500,000 *

100%

2,500

2,500

,500




Az 222 =R=3 M HsW
M s
ool MEIS S4 CER-ED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
ZRASX AL OF2CH 3 1,500 1,500 0
307 gl2tol & 1,500 1,500 0
02 It M AHE L 1,500 1,500 0
OHM 128 L =X AI|l OFTHE
1,500,000& * 100% 1,500
ZAAESX A =23 1,000 1,000 0
307 21201 A 1,000 1,000 0
02 It S AMHEL 1,000 1,000 0
OHM9sl ZJAZXAD =2 U3l
1,000,000& * 100% 1,000
ZRASX AL ZAUS 1,500 1,500 0
307 21201 A 1,500 1,500 0
02 QB AANGFEX 1,500 1,500 0
OM118 XA Z&US
1,500,000 * 100% 1,500
ZREZXADI MHEA HE 1,500 1,500 0
307 glz2+ol & 1,500 1,500 0
02 IZtEAAMHEE 1,500 1,500 0
OHM102 ZJAEXAD THEA CHEl
1,500,000& = 100% 1,500
ZRASXAI ER0U3 1,500 1,500 0
307 glz2tol & 1,500 1,500 0
02 It M AHEE 1,500 1,500 0
OHM21a A EZ=XAI SEFRU
1,500,000& = 100% 1,500
ZEANY MEH=HE 90,000 90,000 0
307 gl2tol & 90,000 90,000 0
04 DIZHHALALSE E X 90,000 90,000 0
OM11sl S AICTHER =S
90,000,000& * 100% 90,000
EE 5E sl &It 3,000 3,000 0
307 21201 A 3,000 3,000 0
02 It S AIHE L 3,000 3,000 0
02020 E=E 58 Hal &It
3,000,000& * 100% 3,000
JIEt U3l NJ(MEHS) 50,000 30,000 20,000
307 21201 A 50,000 30,000 20,000
02 B AAHEX 50,000 30,000 20,000
OJIEt tHal X& 50,000,000& * 100% 50,000




A= B2 =EN= M HsW
HH: YRS
el dads 84 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
ZEH 32 =& EF1U3 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 QI2HEH AFAFQI 2 X 30,000 30,000 0
OHM3sl ZE s52 =& FEFUE
40,000,000& * 75% 30,000
ZIX OtetENS 50,000 45,000 5,000
307 21201 A 50,000 45,000 5,000
04 DIZHHALALSE E X 50,000 45,000 5,000
02020 Z I OtetE sl (90%)
50,000,000 = 14! 50,000
ZRASX A s2U3 1,500 1,000 500
307 21201 A 1,500 1,000 500
02 QB AANGFEX 1,500 1,000 500
OHM4sl ZJAZXADI s3]
1,500,000 * 100% 1,500
ZRZXALD Ht=U 3 1,500 1,500 0
307 glz2+ol & 1,500 1,500 0
02 IZtEAAMHEE 1,500 1,500 0
OHMB8al 22 XIAD| HIS sl
1,500,000 * 100% 1,500
ZREXAD 2sD|3H3E 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
02 It M AHEE 2,000 2,000 0
OHM108l ZHEXADI 23U
2,000,000& * 100% 2,000
EAMEUSHEY IE=7 HAEE 30,000 0 30,000
307 gl2tol & 30,000 0 30,000
04 DIZHHALALSE E X 30,000 0 30,000
02020 E=EFAEUSHE HEFF HAEE
50,000,000& * 60% 30,000
ZEEXAI 2203 1,500 1,500 0
307 21201 A 1,500 1,500 0
02 It S AIHE L 1,500 1,500 0
OHM3al 2JTXADI S4Hs &It
1,500,000& * 100% 1,500
AlLIEE 2y 3FI| 28Ul 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 QIZFHALAIH B & 3,000 0 3,000
02020 AMlLIOI=2E 23dY 3FI 22Uz
3,000,000& * 100% 3,000




A= 2o 2F=EN= M HsW
g s
el dads 84 fEH)
- _ — d =
AR SA Y- SAEA) - HRAY - BES e 2
3x3 Z2Hel s72Us 12,000 12,000
307 gl2tol & 12,000 12,000
04 DI2ZHHALALSE E X 12,000 12,000
(02020 KBA 3X3 KOREA TOUR IN 2 &
15,000,000& * 80% 12,000
oHBHGIDl OtESE 3 20,000 20,000
< 10,000
Al 10,000
307 21201 A 20,000 20,000
< 10,000
Al 10,000
04 DIZHHALALSE E X 20,000 20,000
OHM1&l etethdl D=3
30,000,000& * 66.666% 20,000
< 10,000
Al 10,000
foHeI A= s4 527,491 210,163
J| 86,904
Al 440,587
=S XA 233,683 156,083
307 21201 A 233,683 156,083
02 QIAHFAAHFEX 49,160 11,360
OM= Il Xt 16,000,000& * 100% 16,000
O dedsna 0ls24
8,000,000& = 100% 8,000
OdHFZEH 7 1,800,000& * 100% 1,800
OH MEx=s 2208 243t
23,360,000& * 100% 23,360
03 IAHHEE2HHIES 184,523 144,723
OZOMAM=S AHRZ 2]
136,203,000& * 100% 136,203
OZlM=2 SR2ESH|
1,100,000& = 128 * 100% 13,200
O =s2 2% 800,000& = 12& = 100% 9,600
Oxgdx & |X2el 17,000,000& = 100% 17,000
OHMN=3 AE AEE
710,000 = 12& = 100% 8,520
R o M=sds 40,000 4,000
307 glz2tol & 40,000 4,000
02 It M AMHEE 40,000 4,000
OHM13al L& HOHAMEH =SS
40,000,000& = 100% 40,000
JIEH THEl X2 (HMAMK) 40,000 0




A2 2opABF=EN2 S =
HH: YRS
ool HHAME S4 EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
307 glz2tol & 40,000 40,000 0
02 PIZHEHAHEE 40,000 0 40,000
OJIEt tHal XI& 40,000,000& = 100% 40,000
ZOHlMENENEA Xl 29 173,808 163,728 10,080
J| 86,904
Al 86,904
307 glz2+ol & 173,808 163,728 10,080
J| 86,904
Al 86,904
02 QB HAANEEE 173,808 163,728 10,080
OZOHA M™M= A+ HY X
173,808,000& * 100% 173,808
J| 86,904
Al 86,904
HeFZHH=SEH=sUHSE 25,000 0 25,000
307 izl & 25,000 0 25,000
04 QIZFHALAIH E = 25,000 0 25,000
02020 H+=ZHMHAHSS MU
31,250,000 * 80% 25,000
ZRECXAEY A= 0Hel=E S 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
04 DI2HHALALSE E X 10,000 0 10,000
OHM3sl ZRAZXA dIFH0 =2 U3
12,500,000& * 80% 10,000
TS ELEENSHOESUHS 5,000 0 5,000
307 2201 A 5,000 0 5,000
04 DIZHHALALSE E X 5,000 0 5,000
02020 2T H=E MEMS ANOES
tHal 5,000,000& = 100% 5,000
M= JIBtAIE &= 10,342,600 10,643,960 A 301,360
= 1,140,000
J| 1,000,000
< 2,426,000
Al 5,776,600
S8Hs HsALE 22 304,400 199,760 104,640
201 et 53,400 48,760 4,640
01 At 22l 28,400 25,000 3,400
OArR2t2ltl 28,400
SHEAME W EEREX ME2
10,000,000& * 14 10,000
oHMSAE A2 2= 18,400,000& = 14l 18,400
02 2324l 25,000 23,760 1,240




A2 2opABF=EN2 S =
HH: YRS
CH2l: MS JIBAIE &5 (cho &)
- _ _ RE]
AR .24 EHH O () - HEAY - BL2 Ol At o %Ei HR=2
O332g%Htl 25,000
cHIIQE S(ETH, FuF)
189,390 * 110HA » 128 25,000
401 AlEHIZ 2 0HY| 251,000 151,000 100,000
01 A& HI 250,000 150,000 100,000
OAlI &I 250,000
oZUHl M=EAE WA L Al
100,000,000& * 14 100,000
o=l MESANE SFANES
150,000,000& * 14 150,000
03 Al&E 201 Y| 1,000 1,000 0
OsUl HsSAE &8 & B
1,000,000& * 14 1,000
H=Oet AldEsE 29 10,200 4,200 6,000
202 04| 4,200 4,200 0]
01 2L HI 4,200 4,200 0
OMESAE 24 20,000& = 3™ = 703 4,200
401 AlEHIZL £ 0HY| 6,000 0 6,000
01 Al&H| 6,000 0 6,000
O3B ANEZE AEIEAIESE L HXMEH AAY
= 1,500,000 * 4042 6,000
A HE2Esd =4 3,800,000 300,000 3,500,000
= 1,140,000
= 798,000
Al 1,862,000
401 AlEHIZL 2 0HY| 3,800,000 300,000 3,500,000
= 1,140,000
= 798,000
Al 1,862,000
01 Al&H| 3,780,000 300, 000 3,480,000
OAMEH=ER2RXH 3,780,000,000& = 14! 3,780,000
= 1,134,000
& 793,800
Al 1,852,200
03 A& 2 0HH]| 20,000 0 20,000
OMEM=ESSEXY 20,000,000& * 14 20,000
= 6,000
== 4,200
Al 9,800
23 H=AIE &Y 350,000 350,000 0
401 AlEHIZL 201 Y| 350,000 350,000 0
01 Al& H| 340,000 350,000 A 10,000
OZ2Z2H=SAE 2 ¥ &8H A
340,000,000& = 14 340,000




AR Bl =R=2 2A M=
HH: YRS
CH2l: MS JIBAIE &5 (cho &)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Ei HR=2
03 Al&E 201 Y| 10,000 0 10,000
OZ2Z2MESANE HESx & 3H M
10,000,000& = 1A 10,000
MEHSAIE A L IHE S 1,140,000 290,000 850,000
= 570,000
Al 570,000
401 AIEHI 2L 2 0HY| 1,140,000 290,000 850,000
= 570,000
Al 570,000
01 Al&H| 1,140,000 290,000 850,000
OPLERBH 37F NaN22
1,000,000,000& = 14! 1,000,000
= 500,000
Al 500,000
OMBEH HOIEEE LAY
100,000,000 * 14! 100,000
& 50,000
Al 50,000
OU=s HM=sAE MM 40,000,000& * 14l 40,000
= 20,000
Al 20,000
252X HSHE HS AL (BHCHH HMS) 4,196,000 0 4,196,000
J| 1,000,000
& 1,058,000
Al 2,138,000
401 AlEHIZ 2 0HY| 4,196,000 0 4,196,000
J| 1,000,000
& 1,058,000
Al 2,138,000
01 Al& H| 4,196,000 0 4,196,000
OXFOMOH = HIEH 4.196,000,000& * 14! 4,196,000
J| 1,000,000
< 1,058,000
Al 2,138,000
S22 HNSHE HEAY (ME23HHEH) 500,000 0 500,000
401 Al HI L 204 HI 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OMe23lHH 500,000,000& = 1Al 500,000
22X HSHEH HEAD (2T AHD) 42,000 0 42,000
401 AlEHIZL 2 0HY| 42,000 0 42,000
01 Al&H| 42,000 0 42,000
OX2T A 42.,000,000& * 14 42,000
SE HsSAAE 22 400,000 402,000 A 2,000
SENEANE A 400,000 402,000 A 2,000




20
i

2

400,000

402,000

B A
o S=
A3 .
201
01

il
Pl
0°

tHE & THAHA
400,000,000 = 14!

400,000
400,000

400,000

402,000

Y
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,402,000

832,000
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CHSI 2 Al AR
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,402,000

832,000

,350,000
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4,902,000

70,000

500,000

A 430,000

20,000

20,000

Ak
20,000,000& = 14

e
0x
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20,000

20,000

20,000

207

20,000

20,000

02

SHEHON 2=

20,000,000& = 14

20,000

20,000

20,000

307

30,000

30,000

04

243 NOIES XS

30,000,000& = 100%

30,000

30,000

30,000

fo
[u]

0 0z
n

=

AYAY (ZSor2AL 2

Y

H

Al

,332,000

832,000

,350,000
, 150,000

5,332,000

401

=z Hn Y

,332,000

832,000

,350,000
, 150,000

5,332,000

01

i
ne
o
0!

v

Al

y

Al

,332,000

,322,000

829,647

, 346,177
, 146,176

10,000
2,353
3,823
3,824

5,332,000




A= 2o 2F=EN= M HsW
M ST QMES
ool 2YL R4 e (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
L FHEE 4,056,580 310,886 3,745,694
J| 1,750,000
< 1,250,000
Al 1,056,580
ST Fo 2 4,026,580 270,886 3,755,694
J| 1,750,000
< 1,250,000
Al 1,026,580
ZESEHRINY 29 182,580 270,886 88,306
101 @124l 21,160 20,486 674
04 JIZHHZ2XNSE+ 21,160 20,486 674
OJlg=z 69,200& * 18 = 230¢ 15,916
FEEY 69,200% * 1H * 462 3,184
OAt 28+ 12,980& = 1% = 100Al 2t 1,298
OdxRa8zII=g 69,200% * 198 * 11 762
201 Let2d] 153,620 150,400 3,220
01 At 22l 8l 58,820 50,400 8,420
ORXY 29 =3+7¢ 11,000,000& = 14 11,000
O&AIEE 3l & =2 25,000,000& = 14 25,000
O&=J| &2/l 75,000& = 123 900
O=Relddl &2l 160,000& * 123 1,920
OdA=E E82 20,000,000& = 14 20,000
02 =24l 40,800 28,000 12,800
OQHYsld & SHz 200,000& * 123 2,400
OZdHl 84 1,200,000& = 12& 14,400
OHIIRS 24,000,000& * 14l 24,000
03 & AL2 Z I 54,000 72,000 A 18,000
Y o=
50,000& = 3" » 308 * 123 54,000
202 O4dl 7,800 0 7,800
01 = LH 4 Hi 7,800 0 7,800
OSzgERL 22 FRFA Ol
200,000& = 3% = 133/ 7,800
sy 22AL ], 22 20,000 0 20,000
401 Al HI R 201 I 20,000 0 20,000
01 A& HI 20,000 0 20,000
ST EBA4E A2
20,000,000& = 14 20,000
SHALX LM (SSECHY 2HI) 3,500,000 0 3,500,000
J| 1,750,000
< 1,050,000
Al 700,000




A2 2opABF=EN2 S =
M ST QMES
ol 2YTW Ko el EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlDE2
307 glz2tol & ,500,000 0 3,500,000
J| , 750,000
< 1,050,000
Al 700,000
04 DI2HHALAISE E X ,500,000 0 3,500,000
OSHAZ B (=S BCHH B Z)
3,500,000,000& * 100% ,500,000
J| 1,750,000
= ,050,000
Al 700,000
ZEANEI ANYZEUE 38,000 0 38,000
201 ¢er24| 21,000 0 21,000
03 AH2 I 21,000 0 21,000
oAz N = 21,000,000 = 14l 21,000
301 LEEXS 17,000 0 17,000
09 A& HI X 17,000 0 17,000
oAz adl24  17,000,000& * 14 17,000
2tE 2 sl oM 46,000 0 46,000
307 21201 A 46,000 0 46,000
04 QIZFHALAIH B = 46,000 0 46,000
oxs Z2¢ N Zl 46,000,000& * 14 46,000
ZEEZ d= A28 Oot0olAGHII U 240,000 0 240,000
< 200,000
Al 40,000
307 gl2tol & 240,000 0 240,000
< 200,000
Al 40,000
04 212t AFAL x 240,000 0 240,000
OZ& M2IQIZ2E OtOIAGHIITHE]
240,000,000& * 100% 240,000
< 200,000
Al 40,000
ZEA Z2HLE 30,000 40,000 210,000
N S8% SAAY wE 30,000 40,000 210,000
201 Let24d] 8,000 7,000 1,000
01 AP 2teltl 8,000 7,000 1,000
ONASEEHEZANHY AHH €2
8,000,000& = 14l 8,000
202 (44l 18,000 33,000 A 15,000
04 =X 204l 18,000 33,000 A 15,000
OMASEEHZANAY =Xz HA
18,000,000 * 14 18,000




CH=EW

= A

o}
il

i 7

<N

<

n0

Kio

Hl w

4,000
4,000

3,640
3,640
3,640

2,640
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1,000
1,000

H3r
Wikd
RIS

33,460
33,460
33,460

22,140
22,140

7,720
7,720

3,600
3,600

Off &t 24

4,000
4,000
4,000

37,100
37,100
37,100

24,780
24,780

17,580
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4,500
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4,000
3,920
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3,600
3,600
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N = 0l & At & M A

SsBBIR SN =X
=X MEBH &
SXJIE =4 (2 &HH)
- _ _ RE]
SEA BB (EH) - AEAY - BAS Ofl At o4 %Eﬁ HR=2
ZH b 40,805,712 36,301,537 4,504,175
= 17,775,394
g 745,500
& 3,434,840
Al 18,849,978
= HEUEH = 6,733,629 6,498, 136 235,493
= 544,964
g 745,500
& 810,868
Al 4,632,297
Xojgt x4 2,360,374 2,101,254 259,120
2 544,964
g 745,500
o= 241,268
Al 828,642
HE XY FA 23,100 26,800 N 3,700
201 et 9| 11,500 14,200 A2,700
01 AR 22l ] 11,500 14,200 A2,700
OsdEs NE2ZU X At22
4,500,000 = 14! 4,500
O2XNdEM A35 MA 7,000
o=EXANM EE 6,000,000 = 1A 6,000
cnFIM=EO M2 ZAH YL o
1,000,000 * 14! 1,000
202 044 9,600 9,600 0
01 2L HI 9,600 9,600 0
O=XJ&E g2 =& 20,000& * 6YH * 803/ 9,600
203 SR F & 2,000 3,000 A 1,000
03 AIZH =& 2= X H| 2,000 3,000 A 1,000
OZ2X A F=& 2,000,000 = 14 2,000
Mol s K& 3,480 4,000 A520
201 LBt 3,480 4,000 A520
01 AP 22| H| 3,000 3,000 0
OMils 2= M 1,000,000 = 14! 1,000
OMil®ts &g 228 2
1,500,000 = 14! 1,500
OMol2s= A 22l = 500,000 * 14! 500
02 E2=2=24%H| 480 1,000 A 520
OFUE Mal*=2 s XHAAE AIE2E
40,000 * 12& 480
MSIEXAIE SAN EXNx=E XS 89,640 84,960 4,680
= 17,928
Al 71,712




AR 2HBFEX2 SN =X
Mo =f MEUHE PE
e EX0|8 X4 (2 &HH)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
307 2Iz2to| & 89,640 84,960 4,680
== 17,928
Al 71,712
10 MM SXAANEEHESIGHEX 89,640 84,960 4,680
OMIIEXAIE EAML E2XNEY IS BHA)
89,640,000 * 100% 89,640
&< 17,928
Al 71,712
MSIE2XAIE SAAN MdHEE IR 9,080 6, 140 2,940
= 4,540
Al 4,540
307 2Iz2t0| & 9,080 6, 140 2,940
= 4,540
Al 4,540
06 22 9,080 6, 140 2,940
OMIZ2EXAIE SAX doHEE O &
9,080,000& = 1A 9,080
& 4,540
Al 4,540
AMSISXAIE SAL HLMHA 180,000 30,000 150,000
307 212t0| & 180,000 0 180,000
10 M SXANEEHESIHEX 180,000 0 180,000
OMBZ2XAIE SAMX 2XNEAE XA
150,000,000& * 100% 150,000
OMIBZ2XAIE SAK M XA
30,000,000& * 100% 30,000
A EX |2 SAIA AWM= XK 7,200 3,600 3,600
o=} 1,440
Al 5,760
307 QI2t0| ™ 7,200 3,600 3,600
= 1,440
Al 5,760
10 A EXAEEHES2IGH EX 7,200 3,600 3,600
OMIIEXIIZ EAX HRMAax=E XIS (44
) 150,000 * 4921 = 128 * 100% 7,200
& 1,440
Al 5,760
AR S22 APIEE 13,360 13,360 0
201 et 13,360 13,360 0
01 AP 22| H| 10,000 10,000 0
O=SXYYB2 SIS Ny 18
10,000,000& = {14l 10,000
02 23244 3,360 3,360 0
OSHES MI=XNYELRE sUHES 23
280,000  12& 3,360




AR 2spPENR SN =XEED
Mo =f MEUHE PE
ool =SXIIY E4 (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
AMIERANE 5 33,600 33,600 0
< 6,720
Al 26,880
201 £B-2d| 33,600 33,600 0
< 6,720
Al 26,880
01 At 22/l 33,600 33,600 0
OMEIERME B2 33,600,000 = 14 33,600
< 6,720
Al 26,880
CHAHEAOHE EE X3 162,200 368,800 A 206,600
< 32,440
Al 129,760
301 LBEAZ 162,200 368,800 A 206,600
= 32,440
Al 129,760
01 MEIBEE 2053 162,200 368,800 A 206,600
OUXHIIE SEX& 162,200
cNnYsz ¥ +¢E N
67,200,000& = 14 67,200
< 13,440
Al 53,760
olists=E=2 XA 95,000,000 * 14l 95,000
< 19,000
Al 76,000
SE0IE:21(L IHF)XI ALY 22,000 32,850 A 10,850
< 6,600
Al 15,400
301 LBEXZ 22,000 32,850 A 10,850
< 6,600
Al 15,400
01 MEIE2EZE+05l= 22,000 32,850 A 10,850
SE0IE2F0 (Y HB)NIAMY
22,000,000& * 14l 22,000
< 6,600
Al 15,400
M2 HME X3 544,964 215,344 329,620
2 544,964
301 LEHZ 544,964 215,344 329,620
2 544,964
0B MBI ERRIBNS 544,964 215,344 329,620
OA=2E X 544,964 ,000& » 14 544,964
2 544,964
EAEXNZ0 A ERRE X 78,750 82,800 A 4,050
301 LEXS 78,750 82,800 A 4,050




AR 2HBFEX2 SN =X
Mo =f MEUHE PE
ool =SXIIY E4 (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
0B MBI ERRIBHS 78,750 82,800 A 4,050
OAZIEXIAIE AISIZSR2E =2l
7,0008 * 458 * 250€ 78,750
& JHEH XE ALY 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
11 AL S XAEE = 15,000 15,000 0
OZHESH &S A 15,000,000& = 100% 15,000
JHCeESEA 2st4Ed X 108,000 144,000 A 36,000
< 108,000
301 LBEAZ 108,000 144,000 A 36,000
= 108,000
01 MEIBZE 06z 108,000 144,000 A 36,000
OXHSESE X St & X
108,000,000& * 14! 108,000
< 108,000
NATESE MIMUA EXNAS(EX)(M4E) 1,065,000 1,000,000 65,000
s 745,500
= 63,600
Al 255,900
201 Let24E] 3,500 3,500 0
s 2,450
Al 1,050
01 At 2t 2l 3,500 3,500 0
OXNETEd MIMHEA SEXAY 29
3,500,000& =« 14l 3,500
as 2,450
Al 1,050
202 O4dl 1,500 1,500 0
s 1,050
Al 450
01 = LH 4 Hi 1,500 1,500 0
OXSETted MaMHA EXNMY 2F 0
1,500,000 * 14! 1,500
s 1,050
Al 450
307 glz2tol & 1,060,000 995,000 65,000
s 742,000
< 63,600
Al 254,400
05 RIZt & = 1,060,000 995,000 65,000
OXEXted MaMHA EXNMY X
1,060,000,000& * 14l 1,060,000
as 742,000
< 63,600
Al 254,400




AR 2HBFEX2 SN =X
Mo =f MEUHE PE
ool =SXIIY E4 (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
sstolg =21 X2 AF (XHA) 5,000 0 5,000
201 £B-2d| 1,000 0 1,000
03 &AH2 I 1,000 0 1,000
OSEolEFe A 235
1,000,000& * 14 1,000
301 LeHBAF 4,000 0 4,000
09 SALEHIX A S 4,000 0 4,000
OSst0/2=0l A 25
4,000,000& = 14 4,000
22 -¢Hd 22 84 4,373,255 4,396,882 A 23,627
< 569,600
Al 3,803,655
B8 XA 162,000 155,500 6,500
307 21201 A 162,000 155,500 6,500
03 IAHMEE2HHIES 162,000 155,500 6,500
OUstI240I=ds dEANXNR 29
16,000,000 = 100% 16,000
Ol =dEZIRESILEANNRE 2
16,000,000& * 100% 16,000
Olfstgl=dEzZ0ILALENE 2
16,000,000& * 100% 16,000
OUEAI 2B+ LEANXNE 29
16,000,000& * 100% 16,000
OUSU=DENELRALEANXNE 29
18,000,000& * 100% 18,000
OZ=3zgsdeils 24
16,000,000& * 100% 16,000
OlsteI=Exd RS 2EHEXS 24
16,000,000 * 100% 16,000
OZEANMMeEZ2E 2 16,000,000& * 100% 16,000
OCe.25# RSN ZEAMKNSE 2
16,000,000& * 100% 16,000
OUSIIJLEHERIILEANXNE 29
16,000,000& * 100% 16,000
04T e € X2 3,479,500 3,434,500 45,000
301 LeHBAF 3,438,500 3,418,500 20,000
01 AR 2Z A 53 3,438,500 3,418,500 20,000
OBHESTN HHIM2Y
100,000& * 1,650 = 12& 1,980,000
O=JI2=ax 22+
100,000& = 1,000& » 12& 1,200,000
OMZ HEHEKRIA IR =&
50,0003 = 300& = 12 180,000
O=JI23X A2 200,000& = 3509 70,000
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A2 2pY=EN= it
Ha: KAAE =X0I8 RS
CHol: FOIME XY MUIA CEIED
% - 4 14
A=A ZH - B(EH) - MR e HlDE2
XS Asl EX218 2= 1,424,393 1,400,597 23,796
= 458,874
< 72,944
Al 892,575
FOMSTE AMHA 635,393 637,811 22,418
= 458,874
< 50,944
Al 125,575
XS AS M HIA A A A 5,800 6,440 A 640
201 Let24d] 1,000 2,000 21,000
01 At 22/l 1,000 2,000 A 1,000
OX =Xl Ak 1,000,000& * 1 1,000
202 Oddl 4,800 4,440 360
01 = LH 4 1 4,800 4,440 360
OXE=ER & 20,000& = 3" * 802 4,800
==X XA 573,593 575,371 A1,778
= 458,874
< 22,944
Al 91,775
301 LA F 573,593 575,371 A1,778
= 458,874
< 22,944
Al 91,775
01 A & & = 573,593 575,371 21,778
OFAF=E-PN 573,593,000& * 1 573,593
= 458,874
= 22,944
Al 91,775
ol 2ASXNE ALY 56,000 56,000 0
< 28,000
Al 28,000
301 LA F 56,000 56,000 0
< 28,000
Al 28,000
01 MI2EZE +06l= 56,000 56,000 0
Oxtarel 212X 56,000,000& * 1 56,000
< 28,000
Al 28,000
EXANE 29 789,000 762,786 26,214
< 22,000
Al 767,000
SEMEENZS 29 462,000 455,786 6,214
307 I+l & 460,000 455,786 4,214
10 At2I = XAl & 460,000 455,786 4,214




- _ — d =
SN EAGA) - HRAY - BES 0l &t o e 2
OFZgAs =R 22X &
460,000,000& = 100% 460,000
401 Al HIZ 201 I 2,000 0 2,000
01 A& HI 2,000 0 2,000
OANEES AMEHZA Y 2,000,000& = 14l 2,000
NEASEEEAN 24 42,000 42,000 0
307 glz2tol & 42,000 42,000 0
02 It AAMHEE 42,000 42,000 0
Osgs NIEMABHE AN 43
2,000,000& = 210HESH= *» 100% 42,000
NAMBEEHEAM 2S(EX) 100,000 73,000 27,000
< 7,000
Al 93,000
307 glz2tol & 100,000 73,000 27,000
< 7,000
Al 93,000
10 ALSISXAIEEE2EH EX 100,000 73,000 27,000
OXGMEEHE AN 43t
35,000,000& * 100% 35,000
< 7,000
Al 28,000
ONIAZEEHE AN &-3H(AIHIFIH)
65,000,000& * 100% 65,000
MalEXEos 2g K& 100,000 85,000 15,000
< 15,000
Al 85,000
307 glz2tol & 100,000 85,000 15,000
< 15,000
Al 85,000
10 AL SXNAIEEE2EH EX 100,000 85,000 15,000
OAI=Xg2s 29 X
75,000,000& * 100% 75,000
< 15,000
Al 60,000
OMII=EXESE 2F X (AIHIFIH)
25,000,000& = 100% 25,000
=ZCEW 29 X2 60,000 50,000 10,000
307 gl2tol & 60,000 50,000 10,000
10 AL SXNAIEEE2EHEX 60,000 50,000 10,000
OJIzxtY3 29 XA
55,000,000& * 100% 55,000
OMsZEYW3 29 X& 5,000,000& * 100% 5,000
2 =SX HAKIZ 25,000 22,000 3,000
307 glz2tol & 25,000 22,000 3,000




AR 2HBFEX2 SN =X
MM XHAIS SX0lE 2=
o9l =2XAE 2Y CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
11T A EXAIEEX 25,000 22,000 3,000
OMSI=XIHE % 223l X8
25,000,000 * 100% 25,000
=01 )| X ME B A 281,230 309, 488 N 28,258
= 130,980
Al 150,250
MASS Mol X 281,230 309, 488 N 28,258
= 130,980
Al 150,250
A2 S At 22l XS 15,000 15,000 0
= 7,500
Al 7,500
201 et d| 7,500 7,500 0
= 3,750
Al 3,750
01 AF 22| H| 7,500 7,500 0
OLEAN SeAd 22 29
7,500,000& = 1A 7,500
= 3,750
Al 3,750
301 et M= 7,500 7,500 0]
= 3,750
Al 3,750
01 Al E& A 262 7,500 7,500 0
OLEAN SeEAd 22 A Y
7,500,000& = 1A 7,500
= 3,750
Al 3,750
S08Hs UEE SEMHA XS 176,400 176,400 0]
= 123,480
Al 52,920
201 et 88,200 107,700 A 19,500
= 61,740
Al 26,460
01 AP 2t 2| H| 88,200 107,700 A 19,500
OSHES *¥sE ESSMHIA 29
88,200,000 * 14! 88,200
= 61,740
Al 26,460
301 et M= 88,200 68,700 19,500
= 61,740
Al 26,460
01 A& A 2523 88,200 68,700 19,500
OSHES UEsE S MHA AY
88,200,000& * 14! 88,200
= 61,740




ENE SN =X
EREEE
5 Moy X

- _ _ RE]
- E8 . o9 (31H) - MSAY - BA=S Ofl At o4 %Eﬁ HR=2
26,460
e EXAMHA X 4,630 34,200 N 29,570
B2 A Y| 4,630 4,500 130
2Z229H| 4,630 4,500 130
OZ2222 ¥ HMA 1,630
oclMIIXY EEE 1,500,000& = 14! 1,500
o MI|IX & K= XA 130,000& = 14l 130
OXtg Mty 3,000,000 = 1A 3,000
S8sS EXGES =& A LG 6,400 5,920 480
[0:1:]] 6,400 5,920 480
= LH O i 6,400 5,920 480
OgY=X 92 =& 20,000& x 4% * 803/ 6,400
S TAL 2= Y 22 14,000 48,400 AN 34,400
U8t AH| 14,000 48,400 AN 34,400
01 AP 22| H| 9,000 8,400 600
OU=s33 EAAYE 29 9,000,000 = 14 9,000
03 Al A H| 5,000 40,000 A 35,000
OlUs goe 3% 29 1,000,000& * 14 1,000
OU=sZ3 &4 AP H| 1,000,000& = 14 1,000
OA3I 28 AIY 2135 3,000,000 = 1A 3,000
2HAS 23 I 60,000 20,000 40,000
AEE M 2 60,000 20,000 40,000
01 Al B & X 26 2 60,000 20,000 40,000
O0d=2HZE IA=2E N (&,=4)
30,000,000 = 23| 60,000
2 e BHASAHHAIAEY 2H 4,800 5,568 ANT768
et A Y| 4,800 5,568 AT768
22394 4,800 5,568 ANT768
OLEZ Ued BEAHEIHAHANAE 2H
220,000 ~ 12€ 2,640
OsegMd22PRE SUHNET 22
30,000 * 404 = 12&€ 1,440
OSXAMZXNN =2 g2 sUHEE 223
50,000 * 1CH = 12&€ 600
O222X 129 24 H dM3te3
10,000& = 10H ~ 12€ 120
A S& 32,139,610 27,844,784 4,294,826
= 16,575,456
& 2,551,028
Al 13,013,126
23 - M=sgs I 80,000 65,000 15,000




AR 2spPENR SN =XEED
Mo mH0jol =2X =X
&2 HoHe 23 - Msgs N2 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
ZOHQl ALK& 80,000 65,000 15,000
307 gl2tol & 80,000 65,000 15,000
11T AS S RAEE = 80,000 65,000 15,000
OFOe 2ZE HAXE  50,000,000& * 100% 50,000
O&HOM=X SEAL 20,000,000& * 100% 20,000
O=s0telel & ALK& 10,000,000& = 100% 10,000
ZHA=EXAE 29 N& 11,508,607 10,295,673 1,212,934
= 3,825,604
< 904,973
Al 6,778,030
o= 24 1,512,000 1,426,000 86,000
307 gl2tol & 1,492,000 1,406,000 86,000
10 AL SXAIEEE2EH EX 1,441,000 1,361,000 80,000
OZM=EX2 2LXE 1,441,000
o= 2Y
1,400,000,000& * 100% 1,400,000
ocZfeI=X2 FUHAE =4 X
41,000,000& = 100% 41,000
11T MISRASEX 51,000 45,000 6,000
OZe FPEHEHA 28 XNE
51,000,000& * 100% 51,000
402 212t X201 & 20,000 20,000 0
01 RIZt X2 AL E = (REA &) 20,000 20,000 0
OFMe=2 SelXs Zd X&
20,000,000& * 100% 20,000
ZOHQ SXAIE e 72 50,000 75,000 A 25,000
402 BIZHXHE0| A 50,000 75,000 A 25,000
01 It 2 A B (KM ) 50,000 75,000 A 25,000
O&EMA=XASE Xt 22
50,000,000& = 100% 50,000
ZOHQ AFAIE 29 XE 4,730,201 4,337,638 392,563
= 3,311,141
= 283,812
Al 1,135,248
307 glz2tol & 4,730,201 4,337,638 392,563
= 3,311,141
< 283,812
Al 1,135,248
10 ALl SXAIEEE2EH EX 4,730,201 4,337,638 392,563
OFOM HAFAIE 2L X2 (3MHA)
4,730,201,000& * 100% 4,730,201
= 3,311,141
< 283,812
Al 1,135,248




SsBBIR SN =X
oo =X &
O =EXAE 29 XA (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
FOUUAAF=AIE JIsEH 299,474 1,277,300 A977,826
= 149,737
< 149,737
402 2I2H X201 M 299,474 1,277,300 A977,826
= 149,737
< 149,737
02 2IZE 2 A EZ(OI XM TH ) 299,474 1,277,300 A977,826
OXOMeANZ=AIA DIsE22
299,474 ,000& * 100% 299,474
= 149,737
S 149,737
ol MATHEANLE 2F 771,239 717,467 53,772
307 21201 A 771,239 717,467 53,772
10 AL SXNAIEEE2EHEX 771,239 717,467 53,772
QX ASTHEALE 2F X2 (M)
771,239,000& * 100% 771,239
ZOHQ ANATHEAE JIsES 1,758,000 0 1,758,000
= 361,000
= 361,000
Al 1,036,000
401 AIEHIZL 201 1,758,000 0 1,758,000
= 361,000
< 361,000
Al 1,036,000
01 A& Bl 1,758,000 0 1,758,000
OZOMAXNATNEAIL JIs2S
1,758,000,000& * 14 1,758,000
= 361,000
< 361,000
Al 1,036,000
ZOHQ SIIAFAIE 2 N2 194,129 188,475 5,654
307 21201 A 194,129 188,475 5,654
10 ALSISXAIEEE2GHEX 194,129 188,475 5,654
OZoel SHIHFAIE 24
194,129,000& = 100% 194,129
ZOHQ SSHEINE 29 402,330 383,170 19,160
307 glz2+ol & 402,330 383,170 19,160
10 ALSISEXAIEEE2GHEX 402,330 383,170 19,160
OZSHMENE 29 NI (7THx)
402,330,000& = 100% 402,330
ZOoHe SSMEIE " X 7,392 8,316 A Q24
< 1,478
Al 5,914
307 glz2tol & 7,392 8,316 A924




SsBBIR SN =X
ool =21 =&
O =EXAE 29 XA )
= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
< 1,478
Al 5,914
10 ALSISXAIEEE2EHEX 7,392 8,316 A 924
O&Oe SIS Moy X
7,392,000& = 100% 7,392
< 1,478
Al 5,914
Hel2d MOAE X3 4,200 8,400 A 4,200
= 840
Al 3,360
307 glz2+ol & 4,200 8,400 A 4,200
< 840
Al 3,360
10 ALSISXAIEEE 2 HEX 4,200 8,400 N 4,200
OMeI2g DAL 29 KA
350,000 * 10 = 128 * 100% 4,200
< 840
Al 3,360
ool FUAESAE 2Y 610,957 593, 163 17,794
307 glz2tol & 610,957 593, 163 17,794
10 AL SXNAIEEE2EH EX 610,957 593, 163 17,794
OXOHl F2AEBSAIE 2L (3 A)
600,957,000& * 100% 600,957
OXoHel =2AEBSAIE Az X
10,000,000& * 100% 10,000
M0l KNHEH 29 350,406 340,200 10,206
307 gl2tol & 350,406 340,200 10,206
10 ALl SXAIEEE2EH EX 350,406 340,200 10,206
OdE0ISXNELE 23 X&
350,406,000& * 100% 350,406
F=HEQHH 29 240,624 229,950 10,674
307 21201 A 240,624 229,950 10,674
10 ALSISXAIEEE2IHEX 240,624 229,950 10,674
Ox=0E9dH 29 XA
240,624,000& * 100% 240,624
ZOHe SEAE 29 N2 95,665 78,314 17,351
< 16,133
Al 79,532
307 21201 A 95,665 78,314 17,351
< 16,133
Al 79,532
10 ALSISXAIEEE2GHEX 95,665 78,314 17,351
OFHe Sgags 29 X
80,665,000& * 100% 80,665
< 16,133




SsBBIR SN =X
ool =21 =&
O =EXNANE 29 I (2 &HH)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
Al 64,532
OXHe sstada 29 X (AL
15,000,000& = 100% 15,000
OHQIHFAIE HEQE X 73,080 73,080 0
= 14,616
Al 58,464
307 2Iz2t0| & 73,080 73,080 0
= 14,616
Al 58,464
10 M SXANEEHE2IGHEX 73,080 73,080 0
OHOMR HFEAIE M
73,080,000& * 100% 73,080
&< 14,616
Al 58,464
HOCIE2X XNIAY 293 H| 18,400 9,600 8,800
201 et d| 8,000 0 8,000
02 2% H| 8,000 0 8,000
OBASES 28 Nz 2|
8,000,000& = 1A 8,000
202 044l 6,400 9,600 N 3,200
01 2L I 6,400 9,600 N 3,200
OXMRUEA R =&
20,000 = 4 * 803 6,400
401 Al HI L 2 0HHI 4,000 0 4,000
01 Al& H| 4,000 0 4,000
OAEZE AEHEAI EH(2)4A)
2,000,000 * 20 A 4,000
oI XAIE SAK EXx=E X 363,600 349,200 14,400
= 72,720
Al 290,880
307 QI2t0| ™ 363,600 349,200 14,400
& 72,720
Al 290,880
10 A SXNAEEHESIGHEX 363,600 349,200 14,400
OZMHUAEXAIE SAL EXNEE XS
363,600,000 = 100% 363,600
= 72,720
Al 290,880
ORI A2 X012 SAX HR2HA 20,700 5,400 15,300
= 4,140
Al 16,560
307 giztol A 20,700 5,400 15,300
& 4,140
Al 16,560
10 MM SAANEEHESIGHEX 20,700 5,400 15,300




SsBBIR SN =X
ool =21 =&
ZHAZXAL 2Y N CER-ED
- _ _ RE]
SEA BB (EH) - AEAY - BAS Ofl At o4 %Eﬁ HR=2
OZOC Al EX & SAX HRMAEE X
= 20,700,000 * 100% 20,700
& 4,140
Al 16,560
HOHHZ=AE Z2I/HED dEXH 6,210 0 6,210
= 3,726
& 497
Al 1,987
307 2Iz2t0| & 6,210 0 6,210
= 3,726
== 497
Al 1,987
02 QI AAIE E X 6,210 0 6,210
OHMAAHAF=AIE Z2IFHD dEXSH
6,210,000& * 100% 6,210
= 3,726
& 497
Al 1,987
OOl MEotd X & 6,765,019 6,289, 151 475,868
= 4,666,508
o=t 601,904
Al 1,496,607
MASH(ZOHQUHTAIE =2 X}) 450,000 400,000 50,000
= 405,000
& 31,500
Al 13,500
301 LBt A= 450,000 400,000 50,000
= 405,000
c 31,500
Al 13,500
01 Al E & A 452 450,000 400,000 50,000
OHMAHZ=ANAE =2 MAZ2O
450,000,000& = 14! 450,000
= 405,000
= 31,500
Al 13,500
o2 25 XA 27,000 21,648 5,352
o=t 5,400
Al 21,600
201 et d| 27,000 21,648 5,352
o 5,400
Al 21,600
01 AP 22| H| 27,000 21,648 5,352
OHMeIAE =S XN 27,000,000& * 14 27,000
& 5,400
Al 21,600
ool 224 XA 26,880 26,626 254




AR 2HBFEX2 SN ENIHDY
Mo mojol =X =A
Sl ZOjl MEOIY X (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
= 5,376
Al 21,504
307 2iz2to| A 26,880 26,626 254
= 5,376
Al 21,504
11T AISIEXAIEEX 26,880 26,626 254
OFs&HM2 2224 I
26,880,000 * 100% 26,880
& 5,376
Al 21,504
202 20 X3 6,087,868 5,669,427 418,441
= 4,261,508
& 547,908
Al 1,278,452
301 et A= 6,087,868 5,669,427 418,441
= 4,261,508
= 547,908
Al 1,278,452
01 Al E & A 462 6,087,868 5,669,427 418,441
O&edAZ2 2 X&
6,087,868,000& = 14! 6,087,868
= 4,261,508
& 547,908
Al 1,278,452
HOHQIIIE X RHMEH 29 61,914 58,450 3,464
307 2Iz2t0| & 61,914 58,450 3,464
10 MM SXAEEHESIGHEX 53,914 51,450 2,464
OXEMNRUIIESXN/ALMAH 24
53,914,000 * 100% 53,914
11T AISIEXAIE EX 8,000 7,000 1,000
OHOMRAIIIESXNRALAEH K&
8,000,000& = 100% 8,000
oo NS EXFY 6,000 6,000 0
201 gBt2A | 6,000 6,000 0]
01 AP 2t 2| bl 6,000 6,000 0
OHOMR XHsxk X 2 6,000,008 = 14! 6,000
O HOAAEXRHEEH 2HN S 56,757 40,000 16,757
& 8,000
Al 48,757
307 2iz2to| A 56,757 40,000 16,757
= 8,000
Al 48,757
10 MM SAANEEHESIGHEX 56,757 40,000 16,757
OXOMNQUBOJA L XRME 2HXA
40,000,000& * 100% 40,000




AR 2spPENR SN =XEED
Mo mojol =X =A
E: o4 Moty X (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 8,000
Al 32,000
OFMHABEJALXNRAME 2L XA (AHIFIH)
16,757,000& * 100% 16,757
Foperxtg 2 oAEH JI2HE =8 30,000 0 30,000
207 & 00 | 30,000 0 30,000
01 228 30,000 0 30,000
OBMIXE L AABH J|2HE =8
30,000,000& * 14 30,000
ZOHQIRIE SHOIIHA 2EHEZI] 4X X 18,600 0 18,600
< 3,720
Al 14,880
301 LeEBAF 18,600 0 18,600
= 3,720
Al 14,880
01 Ml28E 6= 18,600 0 18,600
OZXZOHQIXtE StOITHA 2HEXI| AX X
18,600,000& * 14 18,600
< 3,720
Al 14,880
Zojel gg=x & 1,504,653 1,075,924 428,729
= 1,063,222
< 88,287
Al 353,144
Foperelzdl X 223,892 251,008 A27,116
= 179,113
< 8,956
Al 35,823
308 MtXIEHSOIH 223,892 251,008 A27,116
= 179,113
< 8,956
Al 35,823
10 SII 2 SOICHEHE & X 2 EF A HI 223,892 251,008 A27,116
O&oere=zdl XI& 223,892,000& = 14 223,892
= 179,113
< 8,956
Al 35,823
HedWEE 2 2H X 2,000 3,000 A1,000
< 400
Al 1,600
307 glz2tol & 2,000 3,000 A 1,000
< 400
Al 1,600
01 22272l 2,000 3,000 A1,000
OHl20=2&d7 #Hl X
2,000,000& = 14 2,000




AR 2HBFEX2 SN =XEED
Mo mojol =X =A
ool Zojel AR=X B (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 400
Al 1,600
MNASZEC Ryl L 2 AH X 6,956 6,956 0
= 3,478
= 696
Al 2,782
307 2Iz2t0| & 6,956 6,956 0
= 3,478
= 696
Al 2,782
01 sd =l 6,956 6,956 0]
OMASZOR REYl & HAH K&
6,956,000& = 1A 6,956
= 3,478
& 696
Al 2,782
ool X010 XA 13,575 13,573 2
= 10,860
& 543
Al 2,172
301 et A= 13,575 13,573 2
= 10,860
o= 543
Al 2,172
01 Al E & A 462 13,575 13,573 2
OZe BExXI|3 X< 13,575,000 = 14! 13,575
= 10,860
& 543
Al 2,172
S THE HE A 800,000 773,357 26,643
= 560,000
= 48,000
Al 192,000
308 XXISHMSO0|& 800,000 0 800,000
= 560,000
& 48,000
Al 192,000
10 B 2SHUSE AN E AIS Y 800,000 0 800,000
OXOls LEMHEAMH A HIRAH K&
800,000,000& = 1Al 800,000
= 560,000
= 48,000
Al 192,000
SerZOH el SIS E S AHA 436,530 0 436,530
= 305,571
& 26,192
Al 104,767
308 XHXIGHH SO0l & 436,530 0 436,530
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staz=Ex= SN ST
el =X =&
OHOITH RS JIBHE & CER-ED
- _ _ RE]
SA - B .G (3H) - AEAY - BYS Ofl At o4 %Eﬁ HR=2
ZOHQICHH KSAIY 29 40,000 35,000 5,000
307 2Iz2t0| A 40,000 35,000 5,000
03 IZEH X PHAESIHIEX 40,000 35,000 5,000
O&OH SHHl K&
40,000,000& * 100% 40,000
ol =2X /AL 2IFE L3 X 13,090 4,550 8,540
201 et d9d| 13,090 4,550 8,540
01 AF 2t 2| H| 13,090 4,550 8,540
O&FMA=EXANE =& &8 AJ3
70,000 *= 7¥H = 33| 1,470
OYE Rl NEZ2AU AIY A AR 3
70,000 x 5 x 23] 700
OHMAUA=SAI /A 70,000 * 30¥ * 23| 4,200
OHOM LR AlY A3
70,000 * 5% * 13| 350
OHMESKE =2 A MR
70,000& x 7 = 133 6,370
S (II=)X= 697,087 687,840 9,247
= 487,961
o= 62,738
Al 146,388
301 et X = 697,087 687,840 9,247
= 487,961
o= 62,738
Al 146,388
01 AR E & A 462 697,087 687,840 9,247
OFME=HINI=x) XS 697,087,000 = 14! 697,087
= 487,961
= 62,738
Al 146,388
=S (XA E) X3 581,042 569,808 11,234
= 406,729
& 52,294
Al 122,019
301 dEtE M= 581,042 569,808 11,234
= 406,729
= 52,294
Al 122,019
01 Al B & A 462 581,042 569,808 11,234
OXMHLEH (XML S) X2
581,042,000& = 14l 581,042
= 406,729
=} 52,294
Al 122,019
SHMN NS MEHE X 155,490 155,470 20
= 62,196




oo =X &
HOHQIXIE Il BHE A (B9 ®R)
CRA - FH - B(BH) - MEMY - BYS 0l &t o il Bl RE2
< 18,659
Al 74,635
307 glz2tol & 155,490 165,470 20
= 62,196
< 18,659
Al 74,635
10 ALSISXAIEEE 22X 155,490 155,470 20
OSSO UHSHMEXH
155,490,000& * 100% 155,490
= 62,196
< 18,659
Al 74,635
ZoHol L Xtel (YerE L Rtel)ArE 1,020,000 842,830 177,170
= 510,000
= 102,000
Al 408,000
101 @124 dl 1,020,000 842,830 177,170
= 510,000
= 102,000
Al 408,000
04 JI2ZHHZ2XREES 1,020,000 842,830 177,170
OFZOMILRtel (Lerd )X
1,020,000,000& * 14l 1,020,000
= 510,000
< 102,000
Al 408,000
ZoHr Y Xiel (Al 2EHM L Xhel) Ak 165,853 136,415 29,438
= 82,927
= 16,585
Al 66,341
101 @144 dl 165,853 136,415 29,438
= 82,927
< 16,585
Al 66,341
04 JIZHHZ2XREES 165,853 136,415 29,438
OZOHALXtel (Al2EM) X2
165,853,000& * 14 165,853
= 82,927
< 16,585
Al 66,341
ZOHI L X2l (SXLXtel)Ae 126,428 93,634 32,794
= 63,214
< 12,643
Al 50,571
101 14 Hl 126,428 93,634 32,794
= 63,214
< 12,643
Al 50,571




- — d =
SN P SAGEH) - HRAY - BYS 0] &k o4 e HlDE2
04 JIZHHZ2XREES 126,428 93,634 32,794
OOl dXtel KNI (SXLXtel)
126,428,000& * 14 126,428
= 63,214
< 12,643
Al 50,571
ZHOH oI Riel (o OFAFTHA 49,971 47,687 2,284
= 39,977
< 1,999
Al 7,995
307 gl2tol & 49,971 47,687 2,284
= 39,977
< 1,999
Al 7,995
11T M SRAISEEX 49,971 0 49,971
OZFoHe L Xtel (Al Ol OFOFAL It#)
49,971,000& = 100% 49,971
= 39,977
< 1,999
Al 7,995
oHel E#SXA(HRH) 7,644,197 6,012,925 1,631,272
= 5,350,938
& 458,652
Al 1,834,607
308 AAIEHHSOIA 7,644,197 0 7,644,197
= 5,350,938
< 458,652
Al 1,834,607
10 BJ12s0dsdE AR I 7,644,197 0 7,644,197
OZOMQ X )
7,644,197,000& * 14 7,644,197
= 5,350,938
=) 458,652
Al 1,834,607
oHel BSXH M= 3,084 0 3,084
= 2,159
< 185
Al 740
308 AXIEHSOIA 3,084 0 3,084
= 2,159
< 185
Al 740
10 BJ12s0dsd AR I 3,084 0 3,084
OZOMQ X =0)
3,084,000& = 14 3,084
= 2,159
< 185
Al 740
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837,667

167,533
670,134

811,069

308 XM S0H

H

Al

837,667
167,533
670,134

837,667

837,667,000& = 14

n

Al

837,667

837,667

167,533
670,134

837,667

ZOHQ BSXIR FIALY (XHA)

656,122

410,796

245,326

307 gl2tol ™

656,122

410,796

245,326

1A SXAIE 2 =

oo gsX&

A&

656, 122,000& = 100%

656,122

656,122

410,796

245,326

= N W

20,030
14,021
1,202
4,807

18,503

1,527

307 glztol &

=z N H

20,030
14,021
1,202
4,807

18,503

1,527

1A SXAIE 2 =

OndEMe wsXl

20,030,000& = 100%
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4,000
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68,000,000& * 100%

H
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68,000

68,000

34,000
34,000

64,000
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20,000

10,000
10,000

20,000

307 glztol &
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AR 2spPENR SN =XEED
Mo mojol =X =A
Chel: O NHE Jlgtx 4 (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
11T M SRASE EX 20,000 0 20,000
OHIZoHta AN WS
20,000,000& * 100% 20,000
< 10,000
Al 10,000
SSTHL N MEMEYH 2208 22 10,000 10,000 0
< 2,000
Al 8,000
307 glz2tol & 10,000 10,000 0
< 2,000
Al 8,000
10 AL SXAIEEE2EH EX 10,000 10,000 0
OZSTHMHANSXNAEH =208 29X
10,000,000& * 100% 10,000
= 2,000
Al 8,000
OO AL M HMAX R 11,000 11,000 0
307 gl2tol & 11,000 11,000 0
04 DIZHHALALSE E X 11,000 11,000 0
OZOHQ IASSH ME X
11,000,000& * 100% 11,000
ool B P (AHA) 5,000 5,000 0
402 2I2tXE201 & 5,000 5,000 0
01 212t 2 AL E = (REMTH ) 5,000 5,000 0
OFe 2&7 FUXA  5,000,000& * 100% 5,000
ZOoel oA WE 20,000 40,000 A20,000
307 glz2tol & 20,000 40,000 220,000
11T M SRASE EX 20,000 40,000 A20,000
OmOHO AARS L BAWH
20,000,000& = 14 20,000
PEMHEZA 29 72,400 117,200 A 44,800
201 Let249] 10,000 12,000 A 2,000
01 At 22/l 2,000 2,000 0
OFTMHEZAl L2EHAN 29
2,000,000& = 14 2,000
02 =24l 8,000 0 8,000
Oe-O8l® XA &€& 8,000,000& » 14 8,000
202 O4dl 6,400 4,200 2,200
01 = LH o4 1l 6,400 4,200 2,200
ORFMEZ Al F2FA04H|
20,0003 = 4% = 802l 6,400
301 LBEAZ 6,000 6,000 0




AR 2spPENR SN =XEED
HH: Fje =X =X
Chelr MONQIXIE JIBHEN CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
09 HALAHIX A S 6,000 6,000 0
ORTOHTAl QIBHOIX HEX A8t
6,000,000& = 14 6,000
401 A& HIZ 201 I 50,000 50,000 0
01 A& HI 50,000 50,000 0
OZ3SAES F0H HYAE £X
50,000,000& * 14 50,000
A2 QZHAIE B24 Hd 24,000 0 24,000
< 7,200
Al 16,800
401 Al HI R 201 I 24,000 0 24,000
< 7,200
Al 16,800
01 A& HI 24,000 0 24,000
Oax7R QAL E24d o
24,000,000& = 14 24,000
< 7,200
Al 16,800
HE2LAZH (S ) 226,850 248,532 A 21,682
= 65,120
Al 161,730
el 2 HH| 180,240 192,762 A12,522
= 65,120
Al 115,120
SEAMAZClIAL A A X (RIITHAE o124H]) 180,240 192,762 N12,522
= 65,120
Al 115,120
101 @124l 180,240 192,762 AN 12,522
= 65,120
Al 115,120
03 I AHA2ZZ2HE > 180,240 192,762 A12,522
OSe At 2telAr etAdl XI&
130,240,000& * 14l 130,240
= 65,120
Al 65,120
OSg At Ztel At 012481 XI& (AIBIFIt)
50,000,000& = 14l 50,000
Jl=&dl 46,610 55,770 29,160
Jl=Z 46,610 55,770 A 9,160
201 Let2dE] 34,010 35,950 A 1,940
01 At 22l 34,010 35,950 A1,940
Oget=&H| 17,882
SHR2REZ 15,000& = 5& = 12& 900
cHIANFRES ¥ 200,000& = 12& 2,400
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= A
N = 0] &F AF S & AN A
A3 epa=x2 SN MERID
MY | ZMEPH
S9l: NASS 4E2F X8 (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
A SHE A} 35,928,558 32,667,854 3,260,704
= 29,108,796
g 203,000
= 2,307,513
Al 4,309,249
J=ME g & 32,243,829 29,124,213 3,119,616
= 28,494,423
g 203,000
& 2,044,211
Al 1,502,195
MASES MEEE & 28,298,371 26,496,786 1,801,585
= 25,295,750
o 1,957,441
Al 1,045,180
MA= O 27,729,477 25,830,044 1,899,433
= 24,956,530
o= 1,941,063
Al 831,884
301 et M= 27,729,477 25,830,044 1,899,433
= 24,956,530
& 1,941,063
Al 831,884
01 Al E&E A£G 2 27,729,477 25,830,044 1,899,433
OMAZ N 27,729,477 ,000& * 14 27,729,477
= 24,956,530
& 1,941,063
Al 831,884
ol &H/ 2RI 2 O 233,843 304,999 ANT1,156
= 210,450
& 16,378
Al 7,015
301 et A= 233,843 304,999 AT1,156
= 210,450
& 16,378
Al 7,015
01 Al E & A 462 233,843 304,999 ANT1,156
Odlat. &2 H S 233,843,000 = 14! 233,843
= 210,450
o 16,378
Al 7,015
mE=a=1 15,101 92,612 ANT7,511
308 ANXICSHHMSOIA 15,101 92,612 ANT7,511
08 I 20 HstE = 15,101 92,612 ANT7,511
(@FNE=2=10: 15,101,000& = 100% 15,101
Hdeok=m a2 128,770 88,651 40,119
= 128,770




- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
301 LEHZ 128,770 88,651 40,119
= 128,770
01 MI2EZE 06z 128,770 88,651 40,119
OFFY=Zedl (HbHdl)
128,770,000& * 14 128,770
= 128,770
HAs=0 HBE8ga X 110,000 100,000 10,000
307 21201 A 110,000 100,000 10,000
05 RIZt2E = 110,000 100,000 10,000
ONMAS=0 ALBEHS X
110,000,000& * 14 110,000
FRAMOHIE 2sAHIIE XA 31,000 31,000 0
307 21201 A 31,000 31,000 0
05 RIZ2tRIE = 31,000 31,000 0
OGFUUOIE SsEIIZXR
31,000,000& = 14 31,000
MASES 4oy @ 24934 7,200 7,200 0
202 044l 7,200 7,200 0
01 = LH o4 1l 7,200 7,200 0
OJIZ4E2ZHe =X
20,000& = 5% = 723 7,200
SXHAT AL 2223l 40,980 40,280 700
201 Let24E] 23,700 23,000 700
02 =224l 23,700 23,000 700
OSXUHAI ZANH GHE FEUHAESAEE
50,000& = 504 = 12& 3,000
O=SXUaAXN SXA LES(RERZ,M)
20,700,000 = 14l 20,700
202 o4dl 17,280 17,280 0
01 = LH o4 1l 17,280 17,280 0
OSEgXZAZeER =0
20,000& = 122 = 723/ 17,280
Has SN g=2 =8 2,000 2,000 0
203 YR =&l 2,000 2,000 0
03 Al F=XH R =AY 2,000 2,000 0
OAH#HSFZ Y| 2,000,000 = 14l 2,000
gol=2 Mg 3,945,458 2,627,427 1,318,031
= 3,198,673
s 203,000
< 86,770
Al 457,015
NEZZ ALY 2,566,600 1,419,485 1,147,115
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307 21201 &

= N H
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M ARISXASEE
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=z M H
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159,000,000& * 14

= M W
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135,968
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343,907
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A= 2o 2F=EN= SN HESFY
Hu: I ZMBEE
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60,000& = 11CH = 123

1,700,000& = 14

oS XNSEAAEUM X2+

300,000& * 1203
oHFHEH FANEH 200,000& * 12&
SHA AT =8 300,000& * 73]
o HAL detMgd] S & 100,000& * 123l

1,200
720
720

3,600
3,000

3,000

3,000
350
1,200
108,000

108,000
162,546
105,710
48,000
1,200
4,800
6,000
300

420

150

2,880

460

2,760

4,200

2,040

5,760

7,920

1,700

3,600
2,400
2,100
1,200

=

i
2




M ox
40 5 4

= - — SHE]|
SN B E(BH) - NREMY - BYS e bl D=2t
ocEXHIIS(SAE) Maltl
300,000& = 12& 3,600
oFHET HA 242
233 = 70,0004 =« 23l 3,220
oXHEHEE 1,000,000& * 1CH 1,000
oozl 2,000
ot E FFH 2,000,000& = 14 2,000
OXte . & &l 2,836
ocltsXEA =2 36,0002 * 1CH 36
ocXsXEFUH 150,000& = 1CH » 12& 1,800
EPNE=PNES PN E 1,000,000 * 1CH 1,000
OA& &8s Xl 12,000
oSN ZAlZ2elRXH  5,000,000& 14 5,000
o=NT AS W, 28 B2 HA
7,000,000& = 14 7,000
OF=FE~g = 40,000
oA0Is SA(SS) 40,000,0008 * 14! 40,000
03 A2 Z Hl 2,000 2,000 0
O AL EH2 H 2,000
o=k AdA 2EHI
2,000,000& * 14 2,000
206 M= Hl 211,500 211,500 0
01 =8l 211,500 211,500 0
OM=ZHl 211,500
oFdZAG AlCH THZHI
210,000,000& * 14 210,000
cHEE Z, =0 7
1,000,000& * 14 1,000
ot M, HE Y 500,000& =« 14 500
301 LBEAZ 3,000 3,000 0
09 HALAHIX RS 3,000 3,000 0
ogetEaza 3,000
o=EX2 2¥3 2| 1,000,000 * 14 1,000
oSX& thal &Iyl 2,000,000& = 14! 2,000
401 AIEHI L 20 2,500 5,000 A 2,500
01 Al&tl 2,500 5,000 ~2,500
OTY 20 T AR &X
2,500,000& = 14 2,500
405 TtabF S 40,100 35,000 5,100
01 AL EFFHSHI 40,100 35,000 5,100
O XtetH = HI 40,100
o2 ALE HEEPC & &I 7Y
1,500,000& * 34 4,500




22N B SA(HN) - NRAY - BYS Ol &t o il 2
oPC & 1,000,000& * 17CH 17,000
oA oX P¢ 100,000& * 207K 2,000
o2oa EX P¢ 300,000& = 1204 3,600
o Z2H| X (S0l 3¢E)7
400,000& = 204 8,000
ogl 2¢ 5,000,000& = 14 5,000
LOI=SRAIE 2elAtd 293t 9,000 7,200 1,800
202 044l 9,000 7,200 1,800
01 = LH o4 1l 9,000 7,200 1,800
OLQ=R Ald2elAtd 28 ol
20,000& = 5% = 903 9,000
il NEH 3,080 0 3,080
201 Let2d] 3,080 0 3,080
01 At 221l 3,080 0 3,080
OFIILLIN& XNE AMRAAS =&
70,000& = 4% = 118 3,080
LoIItEs = 344,200 222,200 122,000
< 43,500
Al 300,700
Lol3 29 102,000 68,000 34,000
307 glz2+ol & 102,000 68,000 34,000
10 AL SXAIEEE2EH EX 102,000 68,000 34,000
Okels 24l
102,000,000& = 1JHA = 100% 102,000
HEANWIIES XEAY 30,000 0 30,000
< 15,000
Al 15,000
307 glz2+ol & 30,000 0 30,000
= 15,000
Al 15,000
04 QIZFHALALH 2 = 30,000 0 30,000
ozaditz2s XA 30,000,000& * 100% 30,000
< 15,000
Al 15,000
Lolcyst 30,000 30,000 0
< 9,000
Al 21,000
307 21201 A 30,000 30,000 0
< 9,000
Al 21,000
11T MISAASEX 30,000 30,000 0
OLolthsr 24  6,000,000& » 504 = 100% 30,000
S 9,000




A= 2o 2F=EN= M 2SR
Hu: Lol =X =7
SH9l: Lol0iItR s =Y CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| Al 21,000
TS AEF2Y 32,000 0 32,000
< 15,000
Al 17,000
402 2I2H X201 M 32,000 0 32,000
< 15,000
Al 17,000
02 QI E2AISEZ (OIS ) 32,000 0 32,000
OF2TLIs MHen
32,000,000& * 100% 32,000
S 15,000
Al 17,000
LollE 2g & JsEE 70,000 62,000 8,000
307 21201 A 50,000 46,000 4,000
11T AL S XA E = 50,000 46,000 4,000
celgst 29 50,000
oUS oltfs
18,000,000& * 1JHA = 100% 18,000
o=8, F2a Lolf)st
12,000,000& * 2JHA = 100% 24,000
cXZNHY 2Y =23 8,000,000& = 100% 8,000
401 AIEHIZL 20 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
OLoltisr JIs22 Atg  20,000,000& * 14 20,000
S OolSAL EOF 2 XI& 65,200 47,200 18,000
201 £B-2dH| 1,200 1,200 0
01 At 22l 1,200 1,200 0
OdAN 2288 ¢ 1,200,000 =+ 14l 1,200
301 LEPEXZ 2,000 2,000 0
09 HALAHIX RS 2,000 2,000 0
Okolod A HIHAH Odl 24
1,000,000 =+ 14l 1,000
oooled AL ZIHAH Odl 24
1,000,000 * 14l 1,000
307 glz2tol & 62,000 44,000 18,000
04 QIZFHALAIH E = 48,000 30,000 18,000
Okoloy At 11,000,000& * 100% 11,000
OoHolEg & At 6,000,000& = 100% 6,000
OLollis T2y HH3
5,000,000& = 100% 5,000
Oddeldl thal &It 1,000,000 = 100% 1,000
OLQ0II=EXANE S& 298 /35
25,000,000& * 100% 25,000




42 2spBEX2
¥ Lol =X 53
Sl =ol0I 23 =0y

0l &t o

=

i
2

=
ton
J
-
>
1%
H
P

O
H N
oon
=R
il
[
0
N
b

O
o
0
=
In
>
o
o

9,000,000 = 100%

14,000

5,000

9,000

14,

000

>
=2
=2
)3
0
pal
40

H

Al

15,000

4,500
10,500

,000

307 21201 &

= N

15,000

4,500
10,500

,000

A S XA E X

Odbidse XN

15,000,000& = 100%

= N

15,000
15,000

4,500
10,500

,000

WIS XAIE 2tel

= MW

3,716,197
171,236
816,579

2,728,382

2,659,

531

1,056,666

(u]

229 Al

Ol
S
bl

' JIsEZ

600,000

505,

000

95,000

401 AIEHIZ 2 I

600,000

505,

000

95,000

01 A& HI

OFRY W2+ 2

600,000

500,000

100,000

505,

000

95,000

in

Al

909,880

181,976
727,904

835,

800

74,080

307 21201 &

n

Al

909,880

181,976
727,904

835,

800

74,080

A S XA E X

OZdzdg 2494l X

2

909,880,000 * 100%

= M

909,880
909,880

181,976
727,904

835,

800

74,080

= MW

704,945
171,236
154,113
379,596

665,

805

39,140

307 glztol &

= W

704,945
171,236
154,113
379,596

665,

805

39,140

1A SXAIE E =

704,945

665,

805

39,140




AR 2HBFEX2 SN ol2A=XD
HzM: Lol 2% =&
R SIS XIAIA 22 (2 &HH)
% - 4 14
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OZ2g dudy @ g=0 A
684,945,000& * 100% 684,945
= 171,236
o=t 154,113
Al 359,596
OZ2Y 2=d|l X (AlHI=I)
20,000,000 * 100% 20,000
T 243 220,420 262,006 N41,586
201 Bt 45,420 56,006 A 10,586
01 AP 2t 2| H| 15,420 21,006 N5,586
OrRyINSAAE +9
70,0008 = 23| ~ 7H 980
OLARZAMY S22 12
3,000,000& = 1A 3,000
O3 2sI|+# £c 4,000,000 = 14 4,000
OdzE A3 2 60,000& * 5000 & 3,000
OMHEERA 425 7Y
1,000,000& = 14! 1,000
OZ2Y AYTEY 42
2,000,000& = 1A 2,000
OZ=2% 22HoIH EHx2
120,000& = 1200 & 1,440
02 2324 H| 30,000 35,000 A5,000
OZ=2% StMEE J1g 5,000,000 = 14 5,000
OZzY =0t ABSE It
25,000,000 * 14! 25,000
307 2iz2to| A 85,000 106,000 A 21,000
04 OIZ2tSHAFALS B = 8,000 8,000 0
Od2e Tz 2T 3l 8,000,000 * 100% 8,000
11 A EXAIEEX 77,000 98,000 A 21,000
O Zz ) 29 55,000,000& * 100% 55,000
OY2Y LoNS S 23
12,000,000& * 100% 12,000
O&EZY M| ot& A A
80,000 * 125004 * 100% 10,000
402 SI2FXHE0| M 90,000 100,000 A 10,000
01 SI2ZEXIEANSEXZ (M) 90,000 100,000 A 10,000
odz% JIIMHE, &3+ N
70,000,000& * 100% 70,000
odz4Y s20l 9 2
20,000,000 * 100% 20,000
A2Y &3 T2k X 63,852 55,920 7,932
== 12,770
Al 51,082
307 2Iz2t0| & 63,852 55,920 7,932




A= 2o 2F=EN= M 2SR
M Lol =X &
Sl SOOI RIAIL B (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
== 12,770
Al 51,082
11T M SXASEX 63,852 55,920 7,932
OF2Y =3Z2 ] 22X N
63,852,000& * 100% 63,852
< 12,770
Al 51,082
Z2EZZ208 294 A& 138,600 135,000 3,600
= 27,720
Al 110,880
307 glz2+ol & 138,600 135,000 3,600
= 27,720
Al 110,880
11T MISXASEX 138,600 135,000 3,600
OFey DIy 294 X
138,600,000& * 100% 138,600
< 27,720
Al 110,880
d2Y Jls22 (%) 987,500 200,000 787,500
< 440,000
Al 547,500
401 Al HIZ 201 I 907,500 100,000 807,500
< 400,000
Al 507,500
01 A& HI 900,000 100,000 800,000
ondel B2Y 55 200,000,000 14 200,000
= 100,000
Al 100,000
Ounzs Sz et(Jtd)3d2g dx
300,000,000 14 300,000
= 150,000
Al 150,000
OdAls1el B2E &= 200,000,000& = 14 200,000
< 100,000
Al 100,000
O&AlS1el 22 A=(AIHIFIH)
100,000,000& * 14l 100,000
Ozdel 22 el2deEg(s%)
60,000,000& * 14 60,000
< 30,000
Al 30,000
Ounes st24 B2Y A4 EZAMY
40,000,000& =« 14 40,000
= 20,000
Al 20,000
03 AlE SR THHI 7,500 0 7,500
OZ2Y &= 2O (ABIZ)
2,500,000& * 3002 7,500




N e E SH 2=
HzM: Lol 2% =&
S SIS XAIE 22| (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
402 SI2FXHE0| M 80,000 100,000 A 20,000
== 40,000
Al 40,000
02 CIZEXIE A EX (0| XM THL) 80,000 100,000 A 20,000
Od2Y JsBELd (233 UMY X
80,000,000 * 100% 80,000
&< 40,000
Al 40,000
ST (OIIE)ZE2E HED| =22l EXAY 41,000 0 41,000
401 Al EHI L 2 0HHI 41,000 0 41,000
01 Al&H| 41,000 0 41,000
ST (OIE)ZEZY HEI| 22 &
1,000,000& * 41J0 &~ 41,000
s FAE4¢ 50,000 0 50,000
401 Al HI L 2 0HHI 50,000 0 50,000
01 Al&H| 50,000 0 50,000
onrsa & A2 50,000,000 * 14! 50,000
Lolgdxie sl ASEH 19,357,538 16,931,094 2,426,444
= 9,269,761
J| 247,404
& 1,768,979
Al 8,071,394
Lolgdxiel & Al E2SAE =20 18,539,521 14,970,130 3,569, 391
= 9,269,761
& 1,767,779
Al 7,501,981
101 Q124 H| 4,883,895 3,176,784 1,707,111
= 2,441,947
o= 460,510
Al 1,981,438
04 JI2ZtHIZ2 2 ANEES 4,883,895 3,176,784 1,707,111
OkoldXxiel &R Ay
270,000& = 11&€ * 1,500& 4,455,000
= 2,227,500
& 445,500
Al 1,782,000
O&e ol olAHy| 25,345,000 ~ 11 278,795
= 139,397
Al 139,398
OMzlEgg S 150, 100,000 * 14! 150,100
= 75,050
= 15,010
Al 60,040
201 Bt 117,500 76,800 40,700
= 58,750
o= 11,750




- H MO

st ==
ol 2X ¢
g itel FEN 2SE

SN FH-SAGEH) - HRAY - B

Off &t 24

=

i
2

47,000

W0
e
o]

re
e
_>'—{_EE
o
HO
0

03

>
H0
02

O g
H
e
e
-

el W=

% =23E S|

97,500,000& = 1

=

20,000,000& = 1

= W

= N H

20,000
20,000

10,000
2,000
8,000

97,500

97,500
48,750

9,750
39,000

10,000

66,800

10,000

30,700

307 glz2tol ™

= Hn A

,535,726
, 767,864
,295,279
,472,583

11,704,546

1,831,180

oAl MHIAE

oA EE

OLoldRiel =&

L]

8,779,050,000&

3,416,003,000&

747,538,000&

10,200, 000&

|2 ®gole

25,345,000% » 23H

= N W = Hn W = W

= H W

= N

,535,726
,952,791

8,779,050
4,389,525

877,905

3,511,620
3,416,003

—

—

, 708,002

341,600

, 366,401

747,538
373,769
74,754
299,015
10,200
5,100
1,020
4,080

582,935

291,468
291,467

11,704,546

1,831,180

405 At&tE =HI

= MW

2,400
1,200
240
960

12,000

A 9,600

olad A gl _Q|I})

,400,000& * 1

N

= H W

2,400

2,400
1,200
240
960

12,000

A9,600




N e E SH 2=
M Lol =X &
S Lodiie EEsl ASEH EEREEED)
- — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
100MIAICH 24 LXtel AL 494,808 1,635,362 A 1,140,554
J| 247,404
Al 247,404
307 gl2tol & 494,808 1,635,362 A 1,140,554
J| 247,404
Al 247,404
11T AIS S RAEE = 494,808 1,635,362 A 1,140,554
O100MAITH 24 LXtel AtY SAE(9HE)
469,500,000 = 100% 469,500
J| 234,750
Al 234,750
O100MIAITH 0124l LXiel Aty Mol
25,308,000& * 100% 25,308
J| 12,654
Al 12,654
100MIAICH 24 LXtel A (FHYE) 2,400 2,400 0
< 1,200
Al 1,200
307 21201 A 2,400 2,400 0
< 1,200
Al 1,200
T M SXASEE X 2,400 2,400 0
O100MIAITH 124 LXtel Aty HEE
200,000& = 12& = 100% 2,400
< 1,200
Al 1,200
NSAS AlLIHZ2Y 22 311,809 286,002 25,807
307 21201 A 301,809 280,002 21,807
10 M2 SXNANEHE2IHEX 301,809 280,002 21,807
OoALZEY 29 301,809,000& * 100% 301,809
402 RI2EA=201 A 10,000 6,000 4,000
01 2I2EH 2 A B (KM ) 10,000 6,000 4,000
OusZ A4 23 A 10,000,000& * 100% 10,000
Lol Xtel SHtHAIA 9,000 37,200 A 28,200
202 044l 9,000 7,200 1,800
01 = LH o4 1l 9,000 7,200 1,800
O=Wotl 20,000& = 5% = 902l 9,000
ZAANE2SE 1,482,036 1,316,727 165,309
= 300,000
< 25,714
Al 1,156,322
HE3¥ 22 419,565 467,827 A48, 262
101 @124l 134,939 126,201 8,738




SA - - E(3) - HRAY - BES Of & o8 il
04 JIZHHZ2XREES 134,939 126,201
Osetd RXlZel 106,167
=llegs 79,920 * 6H * 18 * 123 103,577
SR=A= N 103,577,000& * 2.5% 2,590
ORA SAZH(HM=,4E) 22 28,772
cJIE2s 79,920 * 12% = 30¢ 28,772
201 Let24E] 72,426 72,426
01 At 22l 17,800 17,800
Ot gH| 17,800
CUE HDM BH B2 M
100,000& = 4& » 22| 800
oA H&2R Z4ltl 500,000& = 23| 1,000
cHEZA U 2B A
1,000,000 * 14l 1,000
cHZZE 2% 42F 7
3,000,000 * 14l 3,000
oH&BA FY YN
600,000& = 204 = 10 12,000
02 =224l 54,626 54,626
O32x22 % MAl 16,090
clIIR3 1,000,000& = 128 12,000
o RoAH 2| 200,000& * 123 2,400
o¥3X HA =2 233 = 30,0004 690
oXHEEEE 1,000,000 * 1CH 1,000
O =l 8,400
ottgl SAJ|I| |F 700,000& * 123 8,400
OAN& B bl 27,000
CHETH Q4MAL B2
15,000,000& 14 15,000
oHEBA AL UL ZY SXBLY)
10,000,000& = 14 10,000
cH&&EH SXNE> 2,000,000 =+ 14l 2,000
Oxtg el 3,136
o XAsSA FAE= 700,000& * 14 700
oXsSk FFUH 200,000 = 1CH = 12& 2,400
o XAsSA BAs==sZ 36,000& * 1CH 36
202 O4dl 9,000 9,000
01 = LH 4 Hi 9,000 9,000
O=LH o Hi 9,000
oXI 23 AA2IAMY 2E0HUI
20,000& = 5% = 903/ 9,000
206 M= Hl 44,200 44,200
01 MHZ 4l 44,200 44,200




SN -ZH-SA(BA) - HRAY - B Ol &k o8 il HlnE2
OMZHl 44,200
oZTZE MY 25 7
6,000,000& = 14! 6,000
oG3 Zel8g &0+ 23,000,0008 * 14 23,000
oZt0ISH&AA MAEH 22 100,0008 » 128 1,200
o=l & #+< 3,000,000& = 14 3,000
oM3 P 8,000& = 375X 3,000
oz ¢ 16,0008 * 5004 8,000
401 AIEHIZ 28I 152,000 170,000 218,000
01 A& Hl 152,000 170,000 A 18,000
OAl&HI 152,000
ocHEIZH ANEZ2 FH ¥ E=x
30,000,000& * 14l 30,000
CHEZY FHOF(BUY) VHANL &3
50,000,000& * 14l 50,000
CHMESAML U HYRY
20,000,000& =« 14l 20,000
CHEBA ZAMT DA
20,000,000& =« 14 20,000
cHATH WUC2 HE BY
10,000,000& * 14 10,000
oHETR BOY B MANAI} B
29 20,000,000& * 14 20,000
cHZ2Y M2UI FIIEA B
2,000,000& = 14 2,000
405 XHoHF S HI 7,000 26,000 219,000
01 XY 2 Z F S| 7,000 26,000 A 19,000
OMEESHSHI 7,000
ol - e 2 7,000,000& = 1CH 7,000
SHEANE 23 633,900 848,900 A 215,000
201 Let249] 218,400 242,400 A 24,000
01 At 22l 45,800 45,800 0
O+t 42,000
oc=E2E M 5,000,000 = 14l 5,000
SANRES 72 5,000,000& = 14 5,000
o4 ¥ Hio AEE
1,000,000& * 128 12,000
o JIEtA R E I 20,000,000& * 14! 20,000
o1l =l 2,800
o3 FALE 225 200,000& = 79 « 23| 2,800
O n=H| 1,000
ootz W= 1,000,000& * 14 1,000
02 =224l 172,600 196,600 A 24,000




42 2spBEX2 RNV
M Lol =X &
& FAMANER2Z )
AR SA Y- SAEA) - HRAY - BES il Bl RE2
O3 & HA 101,900
clMIIRS3 8,000,000& = 12& 96,000
SRS el RS R= Rl a] 100,000& * 14l 100
oS4l 50,000& = 12& 600
oTVdl 2 100,000& * 12& 1,200
oX&EHIIS HMeldl 4,000,000& = 14 4,000
OA&EHl s Xl 70,700
oStHFAE 2eHelAld 22l
10,000,000& * 14 10,000
o f01&H 29| 400,000& = 12& 4,800
oS5HIIRANES EEHl 500,0008 128 6,000
oXMI|erM el 1,200,000 = 12& 14,400
cHIILE=E =3 & 2ol
800,000&  12& 9,600
oAGAlA OotX e CHE  200,0008 * 12 2,400
o2l BE =2 200,000& * 1CH 200
oJtA HIIEE =82 300,000& = 14 300
oXMIIZH AT =3
3,000,000& = 14 3,000
oJIEt AI&S X &8l  20,000,000& * 14 20,000
206 M= Hl 176,500 130,500 46,000
01 MHZ 4l 176,500 130,500 46,000
OMZHl 176,500
ostEZ AU ¢ 1,500,000& * 8H 12,000
o3gt&=Z WSt #¢  5,000,000& = 8CH 40,000
ost&EZ WX off Zgg +¢
650,000& * 4CH 2,600
oSt&Z 2HEM 2 7,500,000& * 14 7,500
oStEZ ZUHY MO H
6,500,000& * 2CH 13,000
oZJIYRI ARF F
3,000,000& = 14 3,000
o3ot&Z HUES 7€ 8,000,000& = 14l 8,000
oLt EE 2¢ 300,000& = 8CH 2,400
oStHEAZ(LPG) 7€ 6,000,000& = 12& 72,000
oHiJIM=&&E3I1 WM 5,500,000& * 204 11,000
<JIEt A2F #Y 5,000,000 =+ 14l 5,000
307 glz2tol & 87,000 88,000 A1,000
02 It M AMHEE 47,000 48,000 A 1,000
OBlZIAH4MPE X 47,000
o ZAMIAS 10,000,000 * 100% 10,000
OStMAE £42 LM 0IAEX
37,000,000& * 100% 37,000




o= st = M 2SR
Hu: Lol =X =7
Sl BAANLSY (e9: & 9)
= - — SHE]|
SN B E(BH) - NREMY - BYS 0l &k 24 e bl D=2t
04 DI2HHALALSE E X 40,000 40,000 0
OH gdXAZ 40,000,000 * 100% 40,000
401 AIEHI L 20 136,000 371,000 A 235,000
01 A& HI 136,000 369,000 A 233,000
OAl&HI 136,000
oSEZ ARIFETE WM BA
15,000,000& * 14 15,000
o3& Z AMet2stolg WM 3 At
46,000,000& = 14 46,000
o ZoLRAIE HUZE WHIA
29,000,000& =« 14 29,000
oSHLRAIE FH0H WA SA
29,000,000& = 14 29,000
ocZWEI & MA 3,500,000& = 23| 7,000
ost&d2 ZIIEH 10,000,000& * 14 10,000
402 RI2HXt20l 16,000 17,000 A 1,000
01 212t 2 AL B (REM ) 16,000 17,000 A 1,000
OBIEE 48 2420 0PEX
16,000,000& * 100% 16,000
ZAAIE S EHAY 428,571 0 428,571
2 300,000
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09 #HALAHIXI &3 18,650 16,800 1,850
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10,000 = 459 « 253 11,250
ONdaat=Al 82X - 2183 28 € uNsg
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02 2324 2,400 2,400 0
ONAAEA S HAY 22242
600,000 * 40 A 2,400
307 QI2t0| & 26,000 10,000 16,000
10 A SXNANEEHESIHEX 11,000 0 11,000
OdlsH 29 8,000,000& = 100% 8,000




AR 2HBFEX2 SN HEEAENEDY
HEM: Hd S X
S9l OB ALY (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OHAUASEAIE SALA 22235 X
3,000,000& * 100% 3,000
11T A EXAIEEX 15,000 10,000 5,000
ONEZEZd - 42 - 43518 - 40100 ol n=
X & 5,000,000& = 100% 5,000
ONEZANNNESAYE OlsusXE
1,000,000 * 100% 1,000
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Al 36,062
307 212t0| & 150,259 111,765 38,494
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OSZATHNX A2 HI(2+HEHl ZE)
11,777,000& = 100% 1,777
| 8,244
< 1,060




N e E SN OEEAENED
g d =X sd
S9l OB ALY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| Al 2,473
dZS0oHA 24, SSHE , RUHEE X 100 100 0
J| 100
307 gl2tol & 100 100 0
J| 100
11T M SRASE EX 100 100 0
OMZATNR L2MY, S2H8, 2UUIE
100,000& * 100% 100
J| 100
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SN P SAGEH) - HRAY - BYS 0] &k o4 e HlDE2
Al 2,486,873
28 2s =4 & K& 7,855 7,850 5
201 ¢er24] 350 350 0
01 At 2t 2l 350 350 0
o=24d=+¢ 350
o0l0lSS MHIA MEJ12 dAAZ =
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OMASE 22018X 2IL=2XH
4,000,000& * 32t 12,000
307 21201 A 64,000 88,250 A 24,250
11T M3 SXAISEEX 64,000 62,000 2,000
OdzgM o2z 29  5,000,000& * 100% 5,000
Od&s ot2L g&E 29
8,000,000& = 100% 8,000
ORM143 MHE CH(Z)EC HAEY
13,000, 000& = 100% 13,000

Ott2st M& € Oldluns 24
10,000,000& = 100% 10,000




AR 2HBFEX2 SN e EAE
Ha: og =2X 57
R HAUINS2S X4 (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OUSRIIE It T2 ]
8,000,000& = 100% 8,000
OHM11a 23 Its stots MU 3
5,500,000& = 90.9% 5,000
OZ&012X AdEct0l s XA
5,000,000& = 100% 5,000
OX<EAE It X 10,000,000& * 100% 10,000
A2INAE ZEAIY 2F A 5,600 4,140 1,460
202 04d| 5,600 4,140 1,460
01 2Ll 5,600 4,140 1,460
OAYINT 2= it
20,000 * 4% = 703 5,600
OlOl=S KIS AFS 3,112,157 2,911,188 200,969
= 2,178,510
& 186,729
Al 746,918
307 2iz2to| A 3,112,157 2,911,188 200,969
= 2,178,510
& 186,729
Al 746,918
10 MM SAANEEHESIGHEX 812,157 1,048,438 N 236,281
O0l0|EEAHIAMZI 2 29|
812,157,000& = 100% 812,157
= 568,510
& 48,729
Al 194,918
11T AISIEXAIEEX 2,300,000 1,862,750 437,250
OMIEXREEL HEXKAZ OE(AFH])
2,300,000,000&¢ * 100% 2,300,000
= 1,610,000
& 138,000
Al 552,000
2= =20lLsH 101,840 42,440 59,400
J| 43,420
& 8,684
Al 49,736
307 2iz2tol A 101,840 42,440 59,400
J| 43,420
&< 8,684
Al 49,736
10 MM SAANEEHESIGHEX 5,000 0 5,000
OZ2=ss0tUsH 22 X (A=)
5,000,000& = 100% 5,000
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2 136,390,000& * 100% 136,390
| 68,197
< 13,639
Al 54,554
OLZ3It= Atcll2tel N3
30,649,000& * 100% 30,649
| 15,325
< 3,064
Al 12,260
OZE0I2UX SHAANHA XA
110,036,000& * 100% 110,036
| 55,018
= 11,004
Al 44,014
OUI&tE g e X
65,640,000& = 100% 65,640
| 32,820
< 6,564
Al 26,256
ooz Jssd =4
28,325,000& * 100% 28,325
| 14,162
< 2,833
Al 11,330
S22 N2 20,009 22,163 N2,154
| 10,004
< 2,001
Al 8,004
307 glz2+ol & 20,009 22,163 N2,154
| 10,004
= 2,001
Al 8,004




A= 2o 2F=EN= A HEFEAEL
HE: 04 =X 58
& ALINE2S =4 )
- _ — d =
AR SA Y- SAEA) - HRAY - BES 0l &t o e 2
11T M SRASE EX 20,009 22,163 N2,154
Ogt=0lus 24 20,009,000 = 100% 20,009
J| 10,004
< 2,001
Al 8,004
ROIt= 2=01=0H4E CHOI & 2,990 0 2,990
J| 1,495
< 299
Al 1,196
307 21201 A 2,990 0 2,990
J| 1,495
< 299
Al 1,196
11T M3 SRASEEX 2,990 0 2,990
OROIIbs ZE0IZ014 CHOISAY
2,990,000 = 100% 2,990
p] 1,495
< 299
Al 1,196
CGE3s AH s2 0= 28,998 31,500 A 2,502
< 5,800
Al 23,198
307 21201 A 28,998 29,400 A 402
< 5,800
Al 23,198
11T MISAASER 28,998 29,400 A 402
OU=Zst =X &t SX&
98,000& = 141 = 100% 28,998
< 5,800
Al 23,198
Ct2shots €882 X3 25,000 25,000 0
< 5,000
Al 20,000
307 glz2+ol & 25,000 25,000 0
< 5,000
Al 20,000
11T MISAASEX 25,000 25,000 0
ot=sis ¢ 25,000,000& * 100% 25,000
< 5,000
Al 20,000
O250lE Y2DSNEA MR X2 9,830 0 9,830
= 1,966
Al 7,864
307 21201 A 9,830 0 9,830
< 1,966
Al 7,864




M ox
40 5 4

g

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
11T M SRASE EX 9,830 0 9,830
OU=ZRaINE Y2uENEAF XML X
9,830,000& * 100% 9,830
< 1,966
Al 7,864
NI QLo & D& & At 4,000 4,000 0
< 800
Al 3,200
307 glz2tol & 4,000 4,000 0
< 800
Al 3,200
11T M ZXALSE EX 4,000 4,000 0
OAMHAHRIS & D18l A &DtHl X &
4,000,000& = 100% 4,000
< 800
Al 3,200
Z2E0/2X & ES MY 5,600 0 5,600
< 1,120
Al 4,480
307 gl2tol & 5,600 0 5,600
< 1,120
Al 4,480
11T M SXAISE EX 5,600 0 5,600
OZS0l2X &5 HEL AL
5,600,000& = 100% 5,600
< 1,120
Al 4,480
HASESSHREINHE SIS 3,108,669 2,595,400 513,269
= 108,000
J| 1,687,646
< 317,803
Al 995,220
2AINEENAIE 2 350,231 307,000 43,231
307 21201 A 348,731 307,000 41,731
10 ALl SXAIEEE2EH EX 348,731 307,000 41,731
OZXI=E=XAE 249 X
348,731,000& * 100% 348,731
401 AIEHIZL 20 1,500 0 1,500
01 A& HI 1,500 0 1,500
O3BAIE= XNEW [HE AHXZAMN 24
1,500,000 = 14l 1,500
SIoE FMEgY 208 I 5,000 5,000 0
307 21201 A 5,000 5,000 0
11T MISAASEX 5,000 5,000 0




M ox
40 5 4

CREENES
8 =1 =37
ASEH2H ST

- _ _ RE]
2.2 FHB B EH) - NEAY - BES %Ei HR=2
ORXIE HAME oz X
5,000,000& = 100% 5,000
SRIIE=SXAE E4AX ANHEHEZ 24,000 24,000 0
301 et A= 24,000 24,000 0
01 AISIE & A 452 24,000 24,000 0
ORXINEEXNANAE ElAX HEIFEHZ
3,000,000& = 8™ 24,000
SIERIISEXAE OlOISESAEIAXS 23,263 0 23,263
J| 16,284
o= 1,396
Al 5,583
307 212t0| & 23,263 0 23,263
J| 16,284
=} 1,396
Al 5,583
11 A EXAIEEX 23,263 0 23,263
OStER2IIE=Z2XNAIE o0l MEIA X
23,263,000& * 100% 23,263
J| 16,284
o= 1,396
Al 5,583
SIEDIIEXE 2FH S XA ,041,564 1,635,000 406,564
J| 633,252
o= 204,156
Al 204,156
301 et ™M= ;041,564 1,635,000 406,564
J| ,633,252
o= 204,156
Al 204,156
01 Al E& A 252 ,041,564 1,635,000 406,564
OstE2I=E=XHY =Hl s XN
2,041,564,000& = 14! ,041,564
Dl ,633,252
o=t 204,156
Al 204,156
HAdstEl 18 K& 25,427 30,000 N4 573
J| 20,341
o 1,018
Al 4,068
301 et M= 25,427 30,000 A4 573
J| 20,341
= 1,018
Al 4,068
01 A& A 252 25,427 30,000 N4 573
OFA~EEER2 I} X 25,427,000 « 14! 25,427
J| 20,341
& 1,018




o= st = A HEFEAENF
Ha: og =2X 57
Sol: NASSSSRII=XST (e9: & 9)
- _ — d =
SN P SAGEH) - HRAY - BYS 0] &k o4 e HlDE2
Al 4,068
FLIUNEEXNNAE ANELLX dEXE X 6,730 6,400 330
J| 3,365
< 673
Al 2,692
307 glz2tol & 6,730 6,400 330
J| 3,365
< 673
Al 2,692
11T M SXASE EX 6,730 6,400 330
OSR2IESXNAE AELLT AEXE X
2 6,730,000& * 100% 6,730
J| 3,365
< 673
Al 2,692
SROENE W=EH K& 12,000 22,000 A 10,000
< 6,000
Al 6,000
301 LEHZ 12,000 22,000 A 10,000
< 6,000
Al 6,000
01 MI2EZE 06z 12,000 22,000 A 10,000
OstRL2IEAH n=sH X
12,000,000& * 14 12,000
S 6,000
Al 6,000
MAS S22 Moty X 480,800 460,000 20,800
< 96,160
Al 384,640
301 LerBAF 480,800 460,000 20,800
< 96,160
Al 384,640
01 Ml28HE 6= 480,800 460,000 20,800
OMAS 82215 M&otd X&
480,800,000& = 14 480,800
< 96,160
Al 384,640
HS ™ 120,000 100,000 20,000
= 108,000
< 8,400
Al 3,600
301 LerBAF 120,000 100,000 20,000
= 108,000
= 8,400
Al 3,600
01 Ml28E 6= 120,000 100,000 20,000
OMASN 120,000,000& * 14! 120,000
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CEA B (3H) - MEAY - BAS 0 AF o il HZS2
oF UG AB I 12,500,000& * 80% 10,000
ocdESdAL 5,000,000& * 80% 4,000
10 AR SXAIEEE2IHIEX 90,000 90,000 0
OXgaEAE AGAMY XA
90,000,000& * 100% 90,000
o2 29 477,839 438,744 39,095
101 2124 1| 21,309 20,664 645
04 JIZtHI22NHEE 21,309 20,664 645
OFA o8 21,309
oJlgz 74,2403 + 19 « 230 17,076
oFFs4xY 74,2403 * 1H x 46 3,416
SR PNE=, 74,2403 « 19 » 11 817
201 LEt2 Y| 363,280 308,980 54,300
01 AR 22| I 33,100 33,880 A T780
Ogt2H| 23,180
ocAIRES F¢ 200,000& * 12& 2,400
o3} ARE P 400,000 = 12& 4,800
oEFHM S & 7 1,000,000& = 14l 1,000
S AIRI|I| 2285 F¢ 200,000& « 12& 2,400
ol EE2E HH 1,000,000& = 43| 4,000
oDz ¥ =22 H&E 500,000& =* 63 3,000
oHH™EHH| 2l 2,000,000& * 14 2,000
okdidsas RANES 30,0008 = 12& 360
oHNE PSsZ 15,000& * 3&F * 12& 540
oJ|EF =24l 2,680,000& * 14 2,680
O= &l 1,920
o EZ0HAHI 8,000& * 3Y * 80 1,920
Oexs 8,000
ocZ2F&Hl &= 500,000& * 103 5,000
ol L= 50,000& = 508 ~ 12& 3,000
02 352494l 93,180 92,100 1,080
O332=2 2 HA 68,780
olMII=2 4,000,000& * 12& 48,000
olN3le2 20,000& ~ 104 ~ 12& 240
oTV RegsaE 30,000 = 304 » 12& 1,080
oMol 22 100,000& * 12& 1,200
oREE otM™ & HIIHI
100,000& * 14 100
oA YOtME 3 Y| 100,000& * 13 100
oXHMAUELAHAANEES AHIH
700,000& * 13 700
odMI|IOtAE BAEZ 100,000& * 103/ 1,000
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M ox
40 5 4

SA B C(S) - MRAY - BES il
oPC WX 950,000& =« 15CH 14,250
cQAAEZ 24T 2 8,000,000& * 14 8,000
02 =M=l 2,000 2,000
OE A7 2,000
oM PY 20,0002 = 50 1,000
cdaltE 7Y 1,000,000& * 14| 1,000
Hayd oI XA 74,260 96,377
201 L2l 20,000 20,000
03 A2 Z Hl 20,000 20,000
OZzy 29 20,000,000& * 14l 20,000
202 odl 10,000 10,000
03 =A LI 10,000 10,000
O22HMupgAs Y AS oS
5,000,000& = 29H 10,000
301 LPENF 44,260 66,377
09 HALAHIX RS 44,260 0
O=Hussdx & Ast 1A
44,260,000 = 14l 44,260
FAUERSOE 29 205,536 220,214
201 LBt H Y| 165,386 149,314
01 At 2t 2|l 27,516 25,444
Oget=&H| 19,000
SANRES 72 150,000& * 128 1,800
ocoBAALDE Y 300,000& = 12& 3,600
ocEZEHM =& #¢ 1,000,000 * 14 1,000
SARII 228 Y 150,000& * 12& 1,800
oA EHl 2 840,000& * 14 840
oHE A=Z 15,000& * 38 » 12& 540
ol 22 M 1,000,000& = 43| 4,000
cZz Y EE2 MH 1,000,000 * 33l 3,000
ol BRI |Xl2eltl
35,000& = 12& 420
= JIEt =&H| 2,000,000& = 14l 2,000
Oogxtz 7,236
o=3 - &l gX= 2,000,000& = 23| 4,000
&) Y= 51,5003 = 2CH » 123 1,236
o HAXE L= 500,000& * 43 2,000
O= &l 1,280
o SZ20AHI 8,000& * 29 80 1,280
02 =224l 36,470 36,270
OZ22223 ¥ HAl 24,270
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A= 2o 2F=EN= A HEFEAEL
Hu: Had 25 2 R4
ool HAW 84 (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
oXZglH Y 1,500,000 * 1CH 1,500
o328 X ¢ 300,000& = 6H 1,800
o420 F 500,000& =+ 1CH 500
o2 AMAEI 2 700,000& =« 1CH 700
o3JI¥3I #¢ 800,000& =+ 1CH 800
02 = A=l 3,000 3,000 0
O M=l 3,000
SR & 20,000& = 100&A 2,000
ocggdalts 2 250,000& = 43| 1,000
Fag @y 2= X 96,800 94,700 2,100
J| 48,400
Al 48,400
307 21201 A 96,800 94,700 2,100
J| 48,400
Al 48,400
11T MISRASEEX 96,800 94,700 2,100
OFLYE QAFY 75 K&
96,800,000 = 100% 96,800
J| 48,400
Al 48,400
FAEFRI&2 SAN HRME = 14,400 0 14,400
< 2,420
Al 11,980
307 21201 A 14,400 0 14,400
< 2,420
Al 11,980
11T MISRASEX 14,400 0 14,400
OFAGLAESXNHE SAA HRME =&
12,100,000& * 100% 12,100
= 2,420
Al 9,680
OFLAUAGENMEH SMI MRME == (Al
gl Z=0t) 2,300,000 = 100% 2,300
FdaE HSE0tE 29 24,000 71,250 ANAT,250
= 9,600
< 2,400
Al 12,000
307 21201 A 24,000 71,250 ANAT,250
= 9,600
< 2,400
Al 12,000
04 QIZFHALAIH B = 24,000 71,250 AAT,250
OHAH Ol2ENY 29
24,000,000& * 100% 24,000
= 9,600
< 2,400




AR Bl =R=2 2A HEEAEIIE I
Hu: Had 25 2 R4
ool ol sS4 CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
| Al 12,000
HAUE S0lel &= XA 15,000 15,000 0
= 6,000
< 1,500
Al 7,500
201 Bt 15,000 15,000 0
= 6,000
< 1,500
Al 7,500
03 A2 EH| 15,000 15,000 0
O¥AW Sotel 28 N
15,000,000& = 1A 15,000
= 6,000
= 1,500
Al 7,500
HAaE HA2SHEH X 29 154,552 150,586 3,966
Dl 77,276
Al 77,276
307 2Iz2t0| & 154,552 150,586 3,966
J| 77,276
Al 77,276
11T AISIEXAIEEX 154,552 150,586 3,966
OFAHE Hd2stdy X &9
154,552,000 * 100% 154,552
J| 77,276
Al 77,276
HAUE A2SHHEH WM - 1P A3 2,500 0 2,500
Dl 2,500
307 QI2t01 & 2,500 0 2,500
J| 2,500
11 A EXAIEEX 2,500 0 2,500
mp\ e H K& 2,500,000& * 100% 2,500
J| 2,500
HAYE SBHA AIY 29 74,940 72,090 2,850
J| 37,470
Al 37,470
307 2iz2to| A 74,940 72,090 2,850
J| 37,470
Al 37,470
11T AISIEXAIEEX 74,940 72,090 2,850
OFAYE SBHI AIY 29
74,940,000 * 100% 74,940
J| 37,470
Al 37,470
HadE HOHRAJG 29 2,800 2,800 0
J| 1,400




AR Bl =R=2 2A HEEAEIIE I
Hu: Had 25 2 R4
ool ol sS4 CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Al 1,400
201 LBt Y| 2,800 2,800 0
J| 1,400
Al 1,400
03 Al H HI 2,800 2,800 0
OFA4dE ALY &4 2,800,000 = 14! 2,800
J| 1,400
Al 1,400
ZDLUAL BAE 2YRANS 2Y 4,000 4,000 0
J| 2,000
Al 2,000
201 2Lt | 4,000 4,000 0
J| 2,000
Al 2,000
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